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Topic 1.1 © page 1'

Law of Diminishing Marginal Utility,
Indifference Curves and Budget Lines.

MCQ Section

The table shows the total utility that
an individual derives from consuming
different quantities of a good.

quantity of good

total utility
(units)

(units)
24
45
63
78
90
99

[T, T - S I S B

The individual’s marginal utility of
money is $1 = 2 units of utility.
What is the maximum quantity of the

good that the individual will buy
when its price is $6?

A 2 units B 3 units
C 4 units D 5 units
[J08/P3/02)

In the diagram a consumer’s initial
budget line is JK.,

A
J
G
quantity of
good Y
0 K H
quantity of good X

Assuming no change in the price of Y,
what could explain a shift in the
consumer’s budget line to GH?

pricc of good [ consumer’s
X money income
A decrease decrease
B deerease increase
C increase decrease
D increase increase
[108/P3/Q3]

In the diagram a consumer’s budget
line shifts from GH to JK,

A

0 H K .
good X

Regardless of any other changes that

might occur, what must be correct?

A There has been an equal propor-
tionate increase in the price of X
and Y.

B There has been an equal propor-
tionate decrease in the price of X
and Y,

C There has been an increase in the
consumer’s money income,

D There has been an increase in the
consumer’s real income,

[NOS/P3/Q3]

HELPS 10 MCQ

1. D A rational con-
sumer will buy up to the
level where,

MUt moncy = MUt tho producs

($6 = 12 units of utility,
is the same as MU of
the fifth unit.)

2. A Assuming no
change in Py, consumer's
ability to purchase maxi-
mum quantity of good Y
has fallen duo to a de-
crease in his money in-
come. But the rise in
maximum quantity of
jood X is due to a great-
er fall in price of good X.

3. D Outward shift in
the budget line implies
that the consumer can
purchase larger quantities
of the two products Y
and X henco, a riso in
consumer's real incomo.
Option A would shift tho
budget line inward and
both B and C would -
nally result in an Increase
in real income,
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4,

m;nﬁ—’ n:\.lﬁ; l—um ‘;\m\ ;I ueility
ol X (units) ol Y (units)

] on 3

2 I 30

3 10 26

A 9 22

S 8 18

0 7 1

7 6 10

8 S 0

The table shows the marginal utility
derived by a consumer who dcv.o‘lc.-;
the whole of his weekly income of §42
(o two poods X and Y, whose unit
prices are $3 and $6 respectively.

In order to maximise his utility, which
quantities of X and Y should the con-
sumer purchase?

X Y

A 2 6

B q 5

C 6 q4

D 8 3
[J09/P3/Q2]

S, In the diagram a consumer’s budget

quantity of

line shifts from JK to GH.

\
)]
G

good Y

>

o K H
quantity of good X

Which statement must be correct?

A There has been an increase in the
consumer's money income,

B There has been a decrease in the
consumer’s real income.

C Good Y has become relatively
more expensive,

D The price of good X has
increased.

[J09/P3/03)

otal utility (units)

Topie 1.1

6. ‘I'he schedule shows the total utility

derived by a consumer of a good X at
different levels of consumption,

quantity of X consumed | I | 2 | 3

4
281 40 | 50 | 54

The consumer obtaing two units of

satisfaction from the last cent she
spends on cach good that she pur-
chases.

What is the maximum number of units
of X that she will consume if the price
of X is 6 cents?

A 2 B 5
C 7 D 8
[NOI/P3/QI]

In the diagram, an individual initially
chooses combination N on budget
line LM,

An increase in his money income
accompanicd by an increase in the
price of good Y causes his budget
line to shift to RS, and he now
chooses combination T,

\
L
good Y N
T
(@] —
good X =

How does this affect his economic
welfare?

A He is definitely better off because
his money income has increased.

B He is definitely worse off because
he has to pay more for good Y.

C Heiis better off since combination
T, which he now chooses, was
not previously available to him.

D He is worse off since combina-
tions of X and Y along LN are no
longer available to him.

[N09/P3/02]

“ pny, y
HELPS 1 MCQ
s o775
64 1 64| 71 73 |
d

pp M E

MUy py

89 3

186

5 C Aninward shig
on y-axis suggests th
Py has increased, makin
good Y relatively expen-
sive and an outward shitt
on x-axis indicates that
good X has become rela-
tively cheaper. Alternative
opt-ions cannot be con-

cluded from the graph.
6. A
Qx [TUx| MUx/Px
1128 |28/6=47
2 |40 | 12/6=2
3 (50 (|10/6=17
4 | 58| 86=13
5|64]| 6/6=1
6 68| 46=07
7171 36=05
8 [ 73| 2/6=0.33

In order to maximize sat-
isfaction she must obtain
two units of satisfaction
from the last cent she
spent on product X i.e.
MUx / Px =2

7. C Combination T
is attainable only after
changes in relative
prices. Option A is incor-
rect because changes I
prices of both the prod-
ucts have altered con-
sumer's real income
whereas option B and D
are incorrect because at
new prices, consumer
prefers more X than Y.

|
i
|
J
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8. The diagram shows the marginal util-
- ity (MU) that an individual derives

from a pood at different levels of con-

Topic 1.1 '-/pﬂﬂ" 3

sumption.
80 R R T
T .
DR SR N ety s
I (1 el i L T
utility RN MU P SRR RN
its) 40
0 ol I B - T
20) et SREsR T E ik e
10 g e e MU
0 T T t t i —
1 2 3 4 5 6 7 8
quantity (kilos)

The utility he derives from the last $
he spends on every good is 3 units.

Assuming the marginal utility of
money is constant, which quantity
will he purchase if the price of the
good is $10?

A 4kilos B 5Skilos
C OGkilos D 7kilos
[J10/P3/Q1]

9. In the diagram a consumer’s budget
line shifts from GH to JK.

3

good Y

L
0] K H
' good X

Which statement must be correct?

A The price of good X has in-

creased relative to the price of
good Y.

The prices of both goods have
fallen.

There has been an increase in the
consumer’s real income.

There has been an increase in the
consumer’s money income,

[J10/P3/02)

10. The schedule shows the total utility
derived by a consumer of a good X at
different levels of consumption.

quantity of X consumed [ 1 |23 |4|5[6 |7

total utility (units)

30(50165(75|80(83|84

The consumer obtains three units of
utility from the last $ she spends on
cach good that she purchases.

What is the maximum number of units
of X that she will consume if the price
of X is $5?

A 3 B 4
C 5 D 6
[N10/P3/Q2]

11. The linc RS in the diagram shows the
different combinations of goods X and
Y that a consumer can afford with his

present income.

4&
R

quantity
of Y

Y

o quantity of X

The consumer’s original equilibrium is
at M.

What could explain a change in his
equilibrium position to N?

A a change in his tastes

B a decrease in the price of X and a
bigger percentage increase in the
price of Y

HELPS v MCQ
8. C
Mua MUb  MUn
Pa Pb 7 Pn
MU

e 3 from every other
good, henco 6 units.

9, A A shift from GH
to JK indicates a lower
quantity of good X (due
to increase in Py) and
relatively larger quantity
of good Y(due to de-
crease in Py), hence B is
incorrect while C & D
cannot be concluded.

MU

10. A —=3 from
P
avery other good,
Quantity
of X TU | MU
1 30 | 30
2 50 | 20
3 65 | 15
4 75 | 10
5 80| 5
6 83| 3
it 84 | 1
MU 15 5
P 3
1. C
Z IR
= N
3 M
o
VNS,
0 quantity of X

Increase in Px with no
change in PY would shift
budget line pivotal inward
on X axis and an in-
crease in income would
shift the budget line piv-
otal upward on Y-axis.
Both A & D would not
shift the budget line hence
point N remains unattain-
able. Option B is incor-
rect because a decrease
in Px and increase in Py

~would result in an in-

crease in quantity of X
consumed.
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120 A Soaaener aeekis o maninise his

whRM ‘ X
U 20wt podnet shoudd e continune
}

N Anustee aach poad?

A untl the wanninal wtilige per dollae
o aach goad s the sanve

B uadl e manninal utline trom cach
S0 By the same

C  unal the marginal utlity trom cach
S0 reaches & maximum

D unal the marginal vtility from each
Sond 1t =0

Lieson

Assuming no change in the price of
X. what could explain a shift in the
consumer’s budget line to GH?

between competing products.

16

Tople 1,1 1, Pt 4

CNelter e Willlg o aeeept Towa
Priveson aer ordors,

D The average vost of production
fallx as the soule of produotion
increases,

INUALOL)

tor the purposes of measucing the In-

come ettect ot'a chanpe In the price of!

apoud, what is not held constant?

A consumer preferences

B relative prices

C  the consumer's money income

D the consumer’s real income
IN1I/P3/O)

The table shows the total utility that
an individual obtains from consuming
different quantities of a good.

What is the maximum quantity of the
good that the individual will buy
when its price is $4?

good X

HELIS 1w Meg

19, A (;mmtmmr ly,
Al maxlin, Bhllafy,
Hon from hig RSy
il ho purchasos (e (g
Up 1O the point viherg (i,
Ity from the lns| Mg
unit () Bpont on gy,
goad bacomos aqua |,

MU, ..MUu.,.m”MUn
Fo B
13. A A docroagg in
monoy Incomo with no
shango In prico of goaq %
would shift tha budgot fin
Inward on X-axis, A g.
multanaous reduction in
the prico of good Y,
which is more than the
fall in money income,
would cause a pivotal

I3 In the disgram. = consumer's initial quantity of good total utility 3“‘1"‘1’?“’ shift In the bug-
budget line is JK. . . get line on y-axis.
ougst lineis (units) (units)

14 A A normal down-

i 20 .
- ward sloping demand
| 2 36 curve shows that the
- 3 50 consumer is willing to pay
a lower price for every

v 4 62 .

good Y = next unit because cach
3 72 additional unit represents
6 80 lower satisfaction. Option
B is incorrect because
The individual’s marginal utility of  choices of products refer

- —> ;1 =7 1 HH t ) i
o coodx H K money 1s S1 =3 units of utility. 0 PED, while C & D are

not related to the demand
curve.

15. D Income effect of
a price change is mea-

A 2 units B 3 units sured in terms of a
pricc of good Y m?m“svumm;‘ ;e ] C 4 units D 5 units change in real income.
decrease d:':nsas: 1 J12/P3/027 16. C  $1 = 3 units of
o - . = utility and P = 34, there-
B decrease increase . . ) fore consumer sacrifices
C e Bcrense 17. The curve GH in the diagram is a 3 x 4 = 12 units of utiity
D . - : - consumer’s initial budget line. for each unit of the good.
= - \ Maximum quantity that
g i is
J11/P3/02] the consumer will buy i
£ e where MUm = MUg.
14. Why does a normal demand curve for J
a product slope downwards from left good Y
to right?
A Buyers’ additional satisfaction
declines as consumption rises. . -
B Consumers are faced with choices e H K
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Which combination conld eause the
budget line to shift to JK?

price of consumers'
good N money income
A Jecrease decrease
[} decnvase inerease
C nerease decrease
D inencase increase
[12/P3/03)

. A consumer who aims to maximise his
utility will armnge his consumption so
that

A the total utility obtained from
cach commodity s the same.

B the total utility per S spent on
each commodity 1s the same.

C the same utility is obtained from
the last unit of each commodity.

D the same utility is obtained from
the last unit of expenditure on
2ach commodity.

[N12/P3/02)

. In the dizgram a consumer’s budget
lin shifts from JK 10 JH.

Iy
J
good Y
o K R
good X
W’rz

2n definitely be concluded
rom the dizgram?

A There has been a decrease in the
priceof good Y.
B

There has been 2 decrease in the
consumer’s moeney income.,

C  There has been an increase in the
consumer’s real income.

D There has been no change in the
price of good X.

N12P203]

Tople 1.1 7 page b

0. The table shows the total utility that

an Individual dertves from consuming
different quantities of a good,

qllunlll) of pood - <lulwll|TIIﬁlly
w“(llllil\) (units)

[ TR
2 36
3 50
4 62
S 72

6 80

The individual's marginal utility of
money is $1 =2 units of utility.
What is the maximum quantity of the

good that the individual will buy
when its price is $67?

A 2units B 3 units
C 4units D 5units
[J13/P3/02]

HELPS v« MCQ

17. A An oulward shift
on x-axis suggests de-
sreaso In the Px while an
inward shift on y-axis can
be altributed to a fall in
money income.

18. D By definition.

19, C A larger quantity
of good X suggests
increase in real income
measured in terms of
purchasing power.

20. C Since $1 =

units of utility and P = 36,
therefore consumer sacri-
fices 2 x 6 = 12 units of
utility in order to obtain
each unit of the good.

21. In the diagram a consumer’s budget  The maximum quantity
line shifts from GH to JK. that the individual will
" buy is where,
| MU gy = MU g
G units | TU | MUgood | MUrrcesy
1 120 20 12
quantity of 2 |38| 18 | 12
goad Y 3 [50]| 14 12
4 |82] 12 12
5 |72] 10 12
6 (80 8 12
0 K H
quantity of good X 21. A After changes in

Which statement must be correct?
A The price of good Y has fallen
relative to the price of good X.

B There has been a decrease in the
price of good Y.

C There has been an increase in the
price of good X.

D There has been an increase in the
consumer’s real income.

[J13/P3/03]

absolute pricas the bud-
get line has become
steeper i.e. good Y row
s relatively less expen-
sive than goed X. Op-
tions B & C indicate
causes of shift whila D
cannot be concluded.




A

22. The table

23.

quantity o

mcaQ)

{ Economircff

o total utility that
nsuming

Love
shows th
al derives from co

an individu :
antitics of a good.

different qU

F«;;ﬁn*t;y’ol;mf)’d—— total l.lli lity
(units) (units)

i 24

2 45

3 63

4 78

5 90

6 99

The individual’s marginal utility of
moncy is $1 =2 units of utility.

What is the maximum quantity of the
good that the individual will buy
when its pricc is $6?

A 2 units B 3 units

C 4 units D 5 units
[N13/P3/Q2]

The line RS in the diagram shows the
different combinations of goods X and
Y that a consumer can afford with her

present income.

!

R

f
ofY M

0 quantity of X

The consumer’s original equilibrium is

at M.

What could explain a subsequent

change in her equilibrium position to

N?

A a change in her tastes

B an increase in the price of X and
a full in the price of Y

C an increase in the price of X and
a smaller percentage increase in
the price of Y

D cqual percentage increases in her
income and in both prices

[N13/P3/Q3]

24, In the diagram.
budget linc is JK.

/7/

v ioitia]
a consumcr s intli

)
G
J
good Y
e good X K
Assuming no changc in the price of

25.

X, what could explain a shift in the
consumer’s budget line to GH?

] price of consumer’s
good Y moncy income
_A—A decrease decrease
B decrease increase
C increase decrease
D increase increase
[J14/P3/02]

The table shows the output of chairs
at a factory when different numbers of

workers are cmployed.

number of workers | 1 2 3 415
number of chairs N A
produced 6| 17273230

20.

Diminishing marginal returns to labour

will set in when

A the sccond worker is employed.

B the third worker is employed.

C the fourth worker is employed.

D the fifth worker is employed.
[J14/P3/Q3]

A household makes the following
purchases of fruit.
it quantity price per
purchased (kg) kg ($)
bananas 5 1.00
apples 10 0.50

The houschold derives twice as much
utility from the tenth kg of apples as
from the fifth kg of bananas.

B R |
3

HELPS |, M;q

2. D Inordery,,,

each unit of he '
coNSUMer Sacrifiggs s -
=12 units of utifiy, sz
sumer will contip,,
purchase up to ““-’r‘c:
where s

MUgood=—Ml‘me
unit | MUgess [ 1y
ENEERER
2 19 12
3 18 0|
4 15 12
s 12 ] 1o
6 9 12 J
el =
23. B
R W
good Y M
S
good X

A change in equilibrium o
point N suggests a piv-
otal outward shift on Y-
axis and inward shift on
X-axis, possibly due toa
fall in Py and a simulta-
neous rise in Py.

24. A A decrease in
PY shifts the curve piv-
otal upward on y-axis,
while a decrease in in-
come with no change in
PX shifts the curve piv-
otal inward on x-axis.

25. B Diminishing re-
turns sets in from the
point where MP starts 0
fall.

No. of
workers | chairs [ MP
)| .
1 6 - f’ g
2 17 1
L S
3 o7 | 10
-
4 32 5
5 30 | 2

4
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What should the houschold do to

maximise utility from the purchase ol

these fruits?

e —
purchase of purchase of
hananas apples
A devrease inensase
B NSRS devrease
C inenease inerease
D | nochange no change

[NI4P3 Q2]

27. In the diagram a consumer's budget
line shifts from GH to K.

quantity of
good Y

0 K H
quantity of good X

Which statement must be correct?

A There has been an increase in the
consumer’s real income.

B Therc has been a decrease in the
consumer’s real income.

C Good Y has become relatively
more expensive.

D Good X has become relatively

more expensive.
INI4/P3Q3)

A utility-maximising consumer spends
the whole of his disposable income of
$40 on food and clothing.

The table shows the price of food, the
quantity purchased by the consumer,
and the marginal utility he derives
from food consumption,

28

food
price per unit $s
quantity demanded 5
marginal utility (units) 10

30.

Yoplte 1,1 O page 7

His nuarginal utility fom clothing is 2
units,

What is the price of clothing per unit
and the quantity purchased by the
consunmer?

clothing
price | quantine
() (units)
A s | a0
i 1.0 13
C 3.0 A
D S0 3

[NSP3O2)

For the purposes of measuring the in-

come efleet of a change in the price of

a good, what is not held constant?

A consumer preferences

B relative prices

C the consumer's money income

D the consumer's real income
[SP3QO3)

The diagram shows an individual's
total utility from consuming glasses of’
(ruit juice,

\
total
total utility
utility

O humber of glassos
of frult Juico

How can this information help to de-

rive the individual's demand curve for

fruit juice?

A by revealing the individual's
marginal utility curve

B by revealing the money value of
marginal utility

C by showing how total utility is
maximised

D by showing the relationship be-
tween utility and expenditure

INLS/PI2)

HELPS wMCQ

MoA MUa=2 38
MUp <1

2

08
Purchase of maoro applos
will redco MU and honce
the value of its frastion
whilo purchasing losa ba:
nanas will ineroase MUy
and the valuo ol its frae:

tion. Tho consumar will
switch his purchase until

MU, MU,

) )
'.‘\ 'l\

27, D A pivatal outwad
ahift on Y axis suggests
afall in PY whilo an i
ward ahilt on xavs inddis
catos a rso in PX thus
making X rolativaly moro
oxponsive,

2. 8 il 2
P

tharoloro, consumar is in
equilbrium when

MU, o
w2, Sinca MU= 2,
¢

thorofora, P, must ba §1,

2,0 A chango In
prico causos a chango in
roal incoma assuming ov-
orything elso s constant,

30. A Rato of change
of TU curva moasuros
MU that can bo usod to
dorivo an individunl's
domand curvo,
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-
31. In the diagram, PQ is a consumer’s A marginal utility of X = pricc of X HELPS , Me
original budget linc. and marginal utility of b Q
\ price of Y.
B marginal utility of X plus marginal
> utility of Y is maximised. B P10
S 164 2 inal utility of X = marginal SRR
P marginal utility g
€ 12 utility of Y. p 2o
g R . . . Y 20 =30
= marginal utility of X _ price of X B A Ineaseorg
= - : e of G
marginal utility of Y price of Y S6cinenaliva incgni:
Q S > [J16/P3/Q5]  =ffect outweighs posigy,
0 1l0 2'0 - substitution effect .
quantity of X . What will happen if, in response to a %D A standard o,

The consumer’s income increases
from $80 to $120 and, at the same
time, the prices of X and Y change.
If the consumer’s budget line is now
RS, what are the new prices of X and
Y?

price of X (8) | price of Y ($)
A 4 12
B 6 10
C 10 8
D 12 6
[N15/P3/Q3]

32. In the indifference curve diagram
point M is the consumer’s initial equi-
librium and MN is the substitution
effect of a fall in the price of good X.

. If good X is a Giffen good which point
will be the consumer’s new equilib-
rium point after the fall in the price of
good X?

[J16/P3/04]

33. To maximise the satisfaction he

derives from a given level of expendi-
ture on two goods, X and Y, a con-
sumer should allocate his expenditure
between the two goods so that

fall in its price, a consumer buys more

of a good?

A a fall in the total utility derived
from consuming the good

B amovement along the consumer’s
demand curve

C arise in the marginal utility de-
rived from consuming the good

D a shift in the consumer’s demand

curve
[N16/P3/04]

. The diagram shows two indifference

curves and two budget lines for
goods X and Y.

Y

good Y F H

good X
The consumer’s initial position is at
point F. The consumer’s preferred fi-
nal position becomes point H.

What does the movement from F to G
represent?

A the income effect of a price fall
for X

B the price effect of a price change
for X

C the substitution effect of a price
fall for X ‘

D the substitution effect of a price
rise for X
[N16/P3/Q5]

mula for consumer equi-
librium.

34. B According to the
theory a change in price
of a good causes move.
ment along its D curve,
Thisrules out option D. A
higher consumption
causes MU to fall byt
TU to rise; therefore A
& C are incorrect .

35. C Movement along
the same IC due to a fall
in P of one of the two
goods implies substitution
effect.
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36, The diagram shows two indifference

curyes for a consumcr.

1
good Y
R
o&uc,
o
0 good X -

37.

What can

be concluded if the

consumer's equilibrium moves from
to R?

A
B

C

D

The consumer is acting rationally,

The consumer’s money income is

unchanged.

The opportunity cost of good Y

is constant,
The price of good X has riscn.
[117/P3/04]

When the price of a good falls the cf-
feet on the quantity demanded is the
result of an income effect and a sub-
stitution cffect,

Which statement about these cffects
is correct?

A

B

D

For inferior goods the income ef-
fect and the substitution effect
work in the same direction,
For inferior, but not Giffen, goods
the income effect outweighs the
substitution cffect,
For normal goods the income ¢f-
fect and substitution cffect work
in the same direction,
For normal goods the income cf-
fect outweighs the substitution
cffect,

[J17/13/05]

Topic 1.1 & page 9

38, What would not affect the budget line
of an individual consumer?

A

C
D

the individual’s preference for
various poods

the level of income tax
the money prices of goods

the wages earned by the
individual

[J18/P3/05)

39. The diagram shows the demand curye
for a product,

price

0 X% s
quantity

What is maximised at X?

A
B
C
D

marginal revenue
total revenue
marginal utility
total utility
[J18/P3/06]

40, The diagram shows budget lines and
an indifference curve. The consumer’s
initial position is T. The price of good
X then falls,

good Y

J

J

HELPS Lt MCQ

3. A Further an IC
drawn from the origin, the
higher the level of satis-
laction. Consurmer, there-
fore, acts rationally when
ne shifts the equilibrium
to the highest possible
IC.

37. C For an inferior
good substitution effect
outweighs income effect
thus all other options are
incorrect.

38 A A budget line
shows real income be-
cause it is drawn with the
assumptions that money
income and prices of the
gocds remain unchanged.
Therefore, changes in
zither of the two or both
would shift the budget
line. Thus options B, C
& D are cancelled. How-
aver a change in
consumer's preferences
is indicated by a change
in combination of two
goods on the same bud-
get line, therefore it does
not affect the budget line.

good X

Which combination of statements
about the movements in this diagram
is correct?
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‘ll 'l.
natons of apples and rice which are

o Q) poprosents perfvet elantio-
T T W 1 ropresents w Gilflon
}\\\\\t‘

T 10 Rovepresents an Income
CHROG Rt N epresents o
substitition effeot

1o U pepresents nosubstitution
etfeety T 1o Q ropresents o normal
)}t\\\\‘

o U vepresents o substitation
efteety Uto 1 represents an
ineome elleet

INISIP3/OM]

he dingram shows various combi-

potentially available to a consumer,

applos

0 rico -

If standard indifference curves were
added to the diagram they would
show that the consumer is indifferent
between combination X and combina-
tion W,

What can be concluded?

A

D

The consumer is indifferent
between combination Y and
combination Z.

The consumer is indifferent
between combination Z and
combination W.

The consumer prefers combina-
tion Y to combination X.

The consumer prefers combina-
tion Z to combination W,

[N18/P3/05]

Tople 11 % puy,, 10

HELPS 1, iy,

D0 Consas v, g
ORI (At 't g0, 4, %,
thastetonts 8 widrs s by i
4N 1000, Wit gpops, g 4 D
[ s canculled, fo s, "
I 1 pisy 55 00040 45 tey, 4y ;
Fits dasfivess Srom Gach uod zen )
Oraph sugests that he is 4 0y,
obtain the Jsst unit of o "u'r“/ v
st 7610 prios tnat mares 141 o
all V6 7610 hegvs ogtion € s, 4.
eoneen, TU s 10 sum of 14t
thes consumer fil;ﬁ‘/f:f; frmm 2 e,
vidual units he consumes ug 1,
(uartity ‘s ffrs’/' tis masemipg,

oy

M. D Morement zlong 1y
tame indifference curse from 1 v,
U auggests positive substitytic
effect for all goods, Thus ootz
A% B are ruled out, In

/M

0

I
4
;/a
~

re

neame
effect of normal goods iz zl5
positive and it is indicated 6y 2

movement from U 1o S, chcc
option C is cancelied, Giffen qoods
have a negative income effect that
oulweighs positive substitution
elfect. Thus a movement from T
to U on the new budget line is dun
to income effect indicating a fall in
Q that is more than a rise caused
by substitution effect.

4, D

Consumer is indifferent between
two combinations only on the
same indifference curve. This
rules out all other options.
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Law of Diminishing Marginal Utility,
Indifference Curves and Budget Lines.

e

R

ESSAY Section

LIST OF QUESTIONS

(J10/P4/Q5)

Economic theory emphasises the idea of an

equilibrium position. Discuss whother the idea

of an cquilibrium is a useful and praclical way

of explaining the behaviour of a consumer.
[25]

(J11/P4/Q3)

(a) Discuss whether demand schedules and
budget line diagrams are similar In tho
way they represent the effect of

(i) a rise in the price of a good

(i) a rise in a consumer's income. [12]

(b) Analyse what is meant by the equi-mar-
ginal principle of consumer demand and
whether it can be linked to the derivation
of a market demand curve. [13])

(N11/P4/Q2)

(a) Explain the link between a consumer’s ex-
penditure and the equi-marginal principle
of utility. [12]

(12/P4/Q2)

When buying goods not everyone buys the
same standard product. There are some who
want a cheap product even though it might be
of poor quality, while there are those who are
willing to pay more for a luxury or an individu-
ally-made product. Customers search for value
but value is not just in the price.

(adapted from New York Times in the Ob-
server 21.02.10)

(a) E)fplain the theoretical link between utility,
price and the demand for a product. [12)]

(b) Discuss whether the economic analysis of
a rational consumer estimating demand
based on value (utility) is valid not only for

standard products but also for poor qualit
and luxury products, P | [131

Q5

Q6

Q7

Qs

(N12/P4/Q2)

A study found that demand for tickots for oxhi-

bitlons at a major art gallory had unitary price

clasticity.

(a) Explain how tho concept of diminishing
marginal ulility may bo used lo construct a
demand curve for the product and whothor
lhat analysis still applies in the case of
domand for tickets for the oxhibitions. [12]

(J13/P4/Q2)

(a) Explain how a consumer allocates oxpen-
dituro according to the principle of oqui-
marginal ulility and analyso how a change
in incomo might alfect that allocation. (12]

(N13/P4/Q2)

(a) Uso tho thoory of marginal utility to
analyse how a consumer will normally buy
moro ol a product at a lower price than at
a higher prico and oxplain how this thcory
can bo usoed to derivo a markot demand
curvo. [12]

(b) Economic toxts examine market oquilib-
rlum. Discuss whethor it is tho consumor
or the producer who dolerminos the oqui-
librium markot price and whethar consum-
ors havo tho samo power in all types of
markel structure. (13)

(J14/P4/Q2)

‘The analysis of marginal utility as an oxpla-
nation of consumer oquilibrium can only bo
rolated to tho purchase ol one good, cannol
bo used if incomes increase, and is not appli-
cable if advertising causes a chango in tastos.
It is, in praclice, not a uselul guido to con-
sumer bohaviour',

Assess this opinion, [25]
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(V15/P4/Q2)

(a) Describe how consumer theory suggosts a
rise in income will cause a consumer's de-
mand to change for a normal good and for
an inferior good. [12]

Q10 (N15/P4/Q2)

Consumers decide what they wish to buy and
as a result direct the market. Producers de-
velop new products, which they then promote
by advertising, in order to maximise profits.
Without producers there would be no products
to buy.

(a) Explain how economic theory predicts

(b) Discuss why thero might 'be oxcopliong |,
lhis normal response, distinguishing the
come effect from the substitution effgq
Consider the relevance of these oxcop.
tions to firms and the government, [13]

Q15 (J18/P4/Q2)

(a) Explain, with the aid of a Fﬁagram, dimip-
ishing marginal utility and its link to indif.
ference curves. (12)

(b) Discuss, using indifference curve apalysis,
how the impact of an increase In indirect
taxation on the quantity demanded of a
good depends on whether it is a normal

what a rational consumer decides to buy. or inferior good. [13]

[12]
Q11 (J16/P4/Q3)

With the help of diagrams, use indifference

analysis to:

(a) explain what is meant in economic theory
by consumer equilibrium and how it is
related to a consumer's demand curve.

(12]

(b) discuss how this equilibrium might be
affected by a government fiscal policy
that raises taxes on goods. [13]

Q12 (N16/P4/Q3)

(a) A number of consumers are deciding
whether to buy a product. How far does
sconomic theory explain the determination
of the market demand curve for that
product? [12)

(b) Discuss whether that theory is still valid if
the producer decides to advertise the
product, and consider the effects of the ad-
vertising on the demand curve for the

product. [13]

Q13 (J17/P4/Q2)
Cholco Is an essential part of economics.
Somotimes consumers change their choices
olther whon shops have special offers on pre-
viously vory expensive luxury products, or
whon advertlsing persuades them to change
thelr preforencos.

Analyse how the economic theory of indiffer-
onco curves can be used to construct a
consumor's domand curve, Discuss whalhgr
this theory can explain the above changes In

choico. (25)

Q14 (N17/P4/Q3)
(n) Analyse how Indilterence curve theory ex-
plains why a consumer will normally buy
more of a good at a lowar price than at a
higher prico. [12)
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Onestion 1

y eniphaalnen the dden of wnequilibrlum

o whether e Tdea of an equilibrton 1

[l wary of explatnling the belmviour
2]

[0

[eonomie theol
posltion, Disciies
i neful and praet
OF W COnENmer

Koy
T (heory of consimer behavioor explalng ¢on-
samor equilibrim with the help o udlity mnalyslu,
Uniley T the sntlataeton that people derlve from
the m'umunpllnn ol poods and wervicen, Total util-
ity (10 and Marginal ndity (MU) aro two limpors
mrut mensiren of utity, TU B the total satnfaetion
o constmer obtalng trom the consumption of' all the
undts of w good consumed, Whils MU utllity Is the
aatlathetlon galned from consuming one oxtrn unit
of'n good within a glven time perlod, 1t iy mensured
by TU, = Tay, = MU,
According to the prinelple o' diminishing marginal
utllity, ax more unlts ol n pood are consumed suc-
couslvoly, tnextea unit will provide less additional
aatlathetion than previous unit, For example, the
socond cup of colfes In the morning glves us less
additional satisetion than the first cup. The thivd
oup glves oven less satisthetion, The relationship
between TU and MU 1s shown below:

Utithy
(unlex)
TU

‘(l , /.”OW

MU

The MU curve slopes downward, simply illustrat-
ing the prineiple of diminishing marginal utility.
The TU curve starts at the origin, When MU is
positive and diminishing, TU increases at a de-
creasing rate, TU reaches a peak when marginal
utility is zero, Marginal utility can be derived from
the TU curve, It is the slope of the line joining two
adjacent quantities on the curve, For example, the
marginal utility of the third cup of coflee is the
slope of'the line joining points a and . The slope
of such a line is given by the formula:
ATU

MU - —

A units

Tople 1.1 2 pago 3

Wu cin oxtend our nnalysls of utility to explain
how a ratlonnl consumer decldes what combination
ol goodu 10 buy from the glven income, ‘The un-
dotlylng princlple I called equi-marginal utility,
The law states that the individual consumer is in
oquilibrium when it is not possible to switch a
singlo penny's worth of expenditure from one prod-
el to another and obtain an increase in total util-
iy, ‘This oceurs when:

MUn  MUb

btss vt it

MUr[

Where A, B, v 0 are the various goods con-
sumed,

I'ie ubove equation states that the consumer equi-
(Ibrium is where the marginal utility from the last
penny spent on product ‘a’ equals the utility from
tho lnst penny spent on product b cquals the util-
Ity from tho last penny spent on product n, thus
taking into account all of the products the indi-
vidual consumes. When this situation is reached it
Is not possible for the individual to increase his
total utility by reallocating expenditure. So the con-
sumer cquilibrium is important for it is where the
consumer has allocated his or her income in such a
way that maximum utility has been achieved. The
analysis assumes the following:

Satisfuction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-
tion of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant, Consumer has a fixed in-
come, and he will be spending on two normal
goods a and b. Product a costing £2.00 each and
product b costing £4.00 each, and that the indi-
vidual has an income per time period of £16.00. The
table below will help to explain consumer equilib-

riun.

Product A Quantity Product Y
(price £200 cach) | demanded | (price £4.00 each)
+ | of product )

TUa [MUa l\—;’tuji ,\Im\d B | TUb | MUb %
80 [ 80 | 40 1 68 63 17
132 52 | 26 2 100 | 32 8
152 20 10 3 128 28 7
168 | 16 N 4 152 | 24 6
176 | 8 4 5) 172 | 20 5

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product a and two of product b. Here MU/
P is the same, i.e. 8 for both products. Note that in
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cquilibrium the consumer obtains total utility ‘ul'
268 utils and it is impossible for the consumer \T‘“h
an income ot £16.00 to obtain a higher I-:\.'cli nt‘ to-
tal utility, 1 the consumer were not in equi=librium
it would be possible tor him or her to ¢ ‘:lll(‘\cu(c
income and obtain a greater level of satisfaction,
Itis also possible to use marginal utility as a means
of deriving a demand curve. IF in the table above
price of product b were to fall to £2.00, then as-
suming everything clse remained constant, there
\muld\bc anew column for MU/P and a new equi-
librium would result. The consumer would reduce
consumption of product a by 1 unit and increase
the consumption of product b by 3 units. | Hence,
consuming 3 units of a and 5 units of b at the new
equilibrium position. Thus a fall in price of product
b would result in an increase in its QD and result
in a downward sloping demand curve,

So, by the use of utility it has been possible to
demonstrate the logic of ‘rational’ consumer choice
and the derivation of demand curve, however it
does present a few major difficulties particularly

when it comes to the practical aspect of explaining
consumer equilibrium.

In the first place the analysis seems to be oversim-
plifying the real world situation by assuming that
the consumer knows precisely how much utility he
will derive from each unit of al] goods bought and
then acts almost like a calculating machine to
equalize their marginal utilities relative to price. In
practice it is virtually impossible to calculate utility
derived from different products, since it would in-
volve a consumer having to imagine a whole series
of different combinations of goods and deciding in
each case whether a given combination gave more,
equal or less satisfaction than other combinations.

Secondly consumers may not behave ‘rationally’,
and hence may not give careful consideration to
the satisfaction they belicve they will gain from
consuming goods. They may behave impetuously.

Moreover utility analysis is based on the satisfac-
tion that consumers believe they will gain from a
good. This belief may well be influenced when they
are persuaded to buy through advertising and not
through consumer’s calculation of utility. Consum-
¢rs may be disappointed or pleasantly surprised
when they actually consume the good. In other
words, consumers are not perfectly knowledge-
able. Thus the *optimum consumption’ point may
not in practice give consumers maximum satisfac-
tion for their money.

Certain goods are only purchased every now and
again, and then only one at a time. Examples would

h

¢
Tople 1.1 ¢, Pagy
include consumer durables such ag ¢y
sions and washing machines, T'he theory e
sumer behaviour is based on the assumption ”':,"
marginal increases in one good can be triade p
against marginal decreases in another, Thi
be the case with consumer durables,

T teley;,

l ()“
Wil g,

So far we have assumed that when people by,
goods and scrvices they know exactly whay Price
they will pay and how much utility they wij| gain
In many cases this is a reasonable assumptiop, ;:()r'
instance, when you buy a bar of chocolate You
clearly know how much you are paying for it 4
have a very good idea how much utility You derjy,
from its consumption. But what about a video re.
corder, or a car, or a washing machine, or any other
consumer durable? In cach of these cases yoy are
buying something that will last a long time, and the
further into the future you look, the less certain
you will be about its utility. So how wil uncer-
tainty affect people’s behaviour and equilibrium?
The theory fails to explain this.

Finally it can be concluded that theory of consumer
behaviour is a useful analysis of consumer equilib-
rium as it explains how a rational consumer can
choose the best combination of goods from the
given income. However, a number of assumptions

that we make undermine its application to the real
world.

Question 2

(@) Discuss whether demand schedules and budget

line diagrams are similar in the way they represent
the effect of

(i) arise in the price of a good
(i) arise in a consumer’s income. (12]
(b Analyse what is meant by the equi-marginal prin-
ciple of consumer demand and whether it can be
linked to the derivation of a market demand curve.
[13]
[J1/P1Q3]

Essay

(@ (i) A demand schedule is a numerical tabulation
showing different quantitics that xlr‘c‘d‘-‘.'
manded at various prices per period ‘”,“mff
given the assumption that all other vurm!ﬂth
are held constant. Thus it shows the rchl(l(.".‘:
ship between quantity demanded and lhc.lpn::
of the same product. The table below SHOW:
the demand schedule for chocolate.

o

L —
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_————'—T .
. quantity demanded
BAtE (bars of chocolate
(%) per week)

2 100

90

0 80

S 70

10 60

We can now plot the demand schedule on a

graph to sece how quantity demanded of
chocolates relates to variation in price.

pricc A
$)

10

8

6

-r | 1 1 ! ! -
60 70 80 90 100
bars of chocolate

The negative slope of the demand curve indi-
cates the inverse relationship between QD and
P i.e. QD rises as price falls and vice versa.

A budget line, on the other hand, reveals all
combinations of two products that arc obtain-
able, given the individual's income and the
prices of the two products. For example, an in-
dividual may have $100 to spend on two prod-
ucts per week. Assuming the individual
spends all of $100 with the price of product X
$20 and that of product Y $10. Thus the equa-
tion for the budget line is: $100 =$20X +$10Y.

This can be produced diagrammatically as in
the figure below.

Product Y A
1042
84 \b
6 c
44 d
24 ¢
— T .r »
© 12 345 product X

The individual can be at point 'a' purchasing
10 units of Y but unable to buy any of product
X, or the point 'f' purchasing 5 units of X but
none of product Y. Alternatively the consumer
could be at any point between a and f on the
budget line. Points above the budget line are

unobtainable and the slope of the budget line

depends on the relative prices of the two prod-
ucts.

From the above descriptions of demand
schedule and budget line we can make out
that both portray two different aspects of con-
sumption of a good, therefore several differ-
ences can be identified in their effect of a risc
in price of a good.

Firstly, the demand schedule reflects consum-
ers' willingness and ability to buy only onc
product at different prices, therefore, the de-
mand curve for a particular product is drawn
against various prices measured on y-axis and
the quantity demanded on x-axis. In contrast
to this, a budget line is drawn to show the
various quantitics of the two products which
the consumer can obtain from the given
moncy income and prices of the products.
Therefore, a budget line, unlike demand curve,
docs not indicate the quantities that the con-
sumer would buy rather it simply reflects the
ability of the consumer to buy both the prod-
ucts; thus we measure the quantitics of two
products on each of the two axis.

Sccondly the effect of a rise in price of a good,
ceteris paribus, is shown by an upward move-
ment along the demand curve while the effect
of rise in price of onc of the two products with
the money income remaining constant, causes
a pivotal inward shift in the budget line that
signifies that the consumer can obtain a
smaller quantity of the good at the new price.
This is illustrated in the graphs below:

()

price good Y (1)
A A
A
l)l o i
P ________
[ 1 D
| |
l l 5 -
0 Q Q quantity g B ¢ good X

Figure (i) illustrates the effect of a rise in pric.:
of a product in terms of upward movement
along the demand curve. Thus it clearly shows
Q, the new quantity bought at a higher price
P,. On the contrary, the effect of the rise in
price of the same product is shown by a piv-
otal leftward shift in the budget line on x-axis.
Thus it shows that less of X can be purchased
at the new price but, unlike demand curve,
does not point out the actual quantity bought
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(i) The effect of 2 fise in commamer's MMoTTE %
likely to shift both

budget line parallel F
shift in the demand curve i3 su3jec

consumers view of the procuct. = &S

the dermand TorT ame T2
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normal goad, for instance,

is likely to shift parallel utward fecause 2

eramr £53 Baewr 123

in income induces ConsUmET 1o Tuy mat
normal good at each and every price. Howevet
if the product is generally considersd inferioc
than the demand curve will shift '
is opposite to the shift in the budgst line. This
is because inferior goods are associzted with
a negative income effect. These effects are
shown in the graphs below.

pricc M good Y (if)
A
C

AR

N
D, s > "
quantity B D ge0dX

In graph 1 a rise in income can bring shift in
the demand curve in either direction. If, for in-
stance, the good in question is viewed as nor-
mal then the demand curve will shift to D,.
However, in case the good in question is con-
sidered inferior than the demand curve will
shift to D,. On the other hand the budget line
will always shift outward because it simply re-
flects the quantities that the consumer can
purchase with the given prices of the two
goods at the new income level.

The two curves, however, are similar in a way
that both on their own cannot point out the
new quantity that the consumer will buy at the
new income level. In case of demand curve we
need to know the supply curve in order to ex-
actly indicate the quantity consumer will buy
after a rise in income. Similarly we cannot use
the budget line alone to indicate the quantity
that the consumer will buy at the new income
level unless we incorporate the preference
curve to our analysis.

(b) The theory of consumer behaviour explains con-

sumer equilibrium with the help of equi-marginal
principle. Utility is the satisfaction that people de-
rive from the consumption of goods and services.
TU is the total satisfaction a consumer obtains
from the consumption of all the units of a good
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is not possible for

total utility by reallocating expenditure. So the con
sumer equilibrium is important for it is where the
consumer has allocated his or her income in sucha
way that maximum utility has been achieved, The
analysis assumes the following:

Satisfaction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-
tion of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant. Consumer has a fixed in-
come, and he will be spending on two normal
goods a and b. Product a costing £2.00 ecach and
product b costing £4.00 each, and that the indi-
vidual has an income per time peried of £16.00. The
table below will help to explain consumer equilib-
rium.

_Pmduct A Quantity Product Y
(price £2.00each) | demanded | (price £4.00 cach)
of product

MU, MU,
TUa NIUQ P“ Aand B TU[‘ \\1Ub T
80 | 80 | 40 I 68 | 65 | 17 |
132 | 52 26 2 100 | 32 N
152 | 20 10 3 128 | 28 7
168 | 16 S 4 152 | 24 6
176 8 4 5 172 | 20 5

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product a and two of product b. Here

MU/P is the same, i.c. 8 for both products. Note
that in equilibrium the consumer obtains total



|
|

4]
| ]

b Lasys) [ 206 (Basmys)

ity oA Ui% sils w0l 18 s iengrraithe fof ths <o
sistnert with aei iesnres A IN600) 0 (Frzin 2 Higer
Jeved of ieaqd iifity,

I is absrs praaibie o s srzginzd (2353t 7% % tran
o detiving 2 denand oy, I in the 125e
s of g h wrere 14 $3308 4 50000, then 24
suming, cverpthing elve ranzindd ountzes, 1
werild b 4w ossnn $or MUTY 206 2 newr ¢ i
libthustn wrensdd ressit, In ceder s restope e dilitgioen

el
>

comsitner would redisr comsmgtion of prodecs 'y
by 1 unit and increase the consumption of preodas

ety
¥ ’ A
't by 3 units, Henee, consuming % units of % 204 5

units of b 2 the new equilingdum paition, This »
fall in prive of produet b would sesslt in 20 increse
in its OD, It, therefore, generates 2 donnare slop-
ing demand curve,

I this 15 what each consumer does, it is zlso what
all consumers taken together do, Thus the theory
of comsumer behzvior predicts 2 negatively 1!(,;‘/;5
market demand curve,

The market demand curve is the horizontal sum of
the quantitics demanded by 21 individuzl buyers
at various prices per period of time, So market de-
mand curve represents the aggregation of demand
curves of all individual buyers, Assuming there are
only three two buyers of the product and we have
already derived the demand curve for individual
buyers using utility principle. The graph below
shows the aggregation,

(h) (B) (Mztker)
A

AN ’\ """""" i
7O N W N £\
[ ] ) ] ] )
i A i D, i :\D;..,,
0 2 s 710 9 15
quzntity

The figure above illustrates the aggregation over
consumers. At a price of $9 consumer A buys 2
units and consumer B buys 7 units; thus together
they purchase 9 units, yielding one point on the
market demand curve. We generate the second
point on $6 in the same manner and hence derive
the market demand curve. No matter how many
consumers are involved, the process is the same.
We simply need to add the quantities demanded by
all consumers at each price, and the result is the
market demand curve.

So, by the use of utility it is possible to demon-

strate the logic of 'rational' consumer choice and

derive the demand curve of an individual con-

Sumer, The market demand curve is derived simply
Y aggregation of individuals' demand curves.
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yilibrivmn with the help of utility analysis.
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According wo the principle of diminishing marginal
utility, 25 more units of 2 good zre consumed suc-
cessively, an extra unit will provide less additional
satisfzction than previous unit. For example, the
second cup of coffee in the moming gives us less
zdditional satisfaction than the first cup. The third
cup gives even less satisfaction. The relationship
between TU and MU is shown below:

Utility

(units)

16 4 TU

i 3 ATU=2

c AQ=1]

4 1

24 1t 2 3 4 s

——

MU

The MU curve slopes downward, simply illustrat-
ing the principle of diminishing marginal utility.
The TU curve starts at the origin. When MU is
positive and diminishing, TU increases at a de-
creasing rate. TU reaches a peak when marginal
utility is zero. Marginal utility can be derived from
the TU curve. It is the slope of the line joining two
adjacent quantities on the curve. For example, the
marginal utility of the third cup of coffee is the
slope of the line joining points a and 4. The slope
of such a line is given by the formula:

MU= ——ATI,J
A units
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We can extend our analysis of utility to explain
how a rational consumer decides what combination
of goods to buy from the given income. The un-
derlying principle is called equi-marginal utility.
The law states that the individual consumer is in
equilibrium when it is not possible to switch a
single penny's worth of expenditure from one prod-
uct to another and obtain an increase in total util-
ity. This occurs when:

MU, MU, MU,
P, P, P,

a
Where A, B,, ..... n are the various goods con-
sumed.

The above equation states that the consumer equi-
librium is where the marginal utility from the last
penny spent on product 'a' equals the utility from
the last penny spent on product b equals the util-
ity from the last penny spent on product n, thus
taking into account all of the products the indi-
vidual consumes. When this situation is reached it
is not possible for the individual to increase his
total utility by reallocating expenditure. So the con-
sumer equilibrium is important for it is where the
consumer has allocated his or her income in such a
way that maximum utility has been achieved. The
analysis assumes the following:
Satisfaction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-
tion of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant. Consumer has a fixed in-
come, and he will be spending on two normal
goods a and b. Product a costing £2.00 each and
product b costing £4.00 each, and that the indi-
vidual has an income per time period of £16.00. The
table below will help to explain consumer equilib-

num.

Product A Quantity Product Y

(price £2.00 each) g:;ﬁﬁi (price: £4.00 each)
TU, | MU, M},:]—a AandB | Ty, | MU, —h%
80 | 80 40 I 68 | 68 17
132 | 52 26 2 100 [ 32 8
152 | 20 10 3 128 | 28 7
168 | 16 4 152 | 24 6
176 | 8 5 172 | 20 5

that in equilibrium the consumer spends £8 (£2x4)
on product 'a' and £8 (£4 x2) on.product 'b' and
obtains total utility of 268 utils. It is impossible for
the consumer with an income of £16.00 to obtain »
higher level of total utility. If the consumer were
not in equilibrium it would be possible for him tq
reallocate his spending and obtain a greater leve|

of satisfaction.

It is also possible to use marginal utility as a meang
of deriving a demand curve. If, for instance, price
of product 'b' were to fall to £2.00, then assuming
everything else remained constant, there would be
a new column for MU /P and a new cquilibrium
would result. In order to restore equilibrium the
consumer would reduce consumption of product ‘2’
by 1 unit and increase the consumption of product
'b’ by 3 units. Hence, consuming 3 units of 'a’ and
5 units of 'b' at the new equilibrium position. His
spending on each of the two products would also
change. At the new equilibrium his expenditure on
product ‘a’ would fall to £6 (£2%3) and on product
'b' rise to £10 (£2x5). Thus a fall in the price of
product 'b' would result both in an increase in its
QD and consumer expenditure.

So, by the use of utility it has been possible to
demonstrate the logic of 'rational' consumer choice
and the changes in expenditure through derivation
of demand curve.

Question 4

When buying goods not everyone buys the same stan-
dard product. There are some who want a cheap prod-
uct even though it might be of poor quality, while there
are those who are willing to pay more for a luxury or an
individually-made product. Customers search for value
but value is not just in the price.

(adapted from New York Times in the Observer
21.02.10)

(@) Explain the theoretical link between utility, price
and the demand for a product. (12)

(b) Discuss whether the economic analysis of a ratio-
nal consumer estimating demand based on value
(utility) is valid not only for standard products but
also for poor quality and luxury products.  [13]

[J12/P4/02]

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product 'a' and two of product 'b'. Here
MU/P is the same, i.e. 8 for both products. Note
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Essay
(a) The theory of consumer behaviour Lj\'.plains con-
sumer equilibrium with the help of utility f\llnl)'Sls.
Utility is the satisfaction that people derive fro.m
the cénsumption of goods and services. Total util-
ity (TU) and Marginal utility (MU) are two imp.or-
tant measures of utility. TU is the total satisfaction
a consumer obtains from the consumption of all the
units of a good consumed. While MU utility is the
satisfaction gained from consuming one extra unit
of a good within a given time period. It is measured
by: TU,-TU,_, =MU.
According to the principle of diminishing marginal
utility, as more units of a good are consumed suc-
cessively, an axtra unit will provide less additional
satisfaction than previous unit. For example, the
second cup of coffee in the moring gives us less
additional satisfaction than the first cup. The third
cup gives even less satisfaction. The relationship
between TU and MU is shown below:

Utility
(units)
TU
16
b ——
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uct to another and obtain an increase in total util-
ity. This occurs when:

MU, MU, _Mu,
pn - Pb Pn

Where a, b,,.....n are the various goods consumed.

The above equation states that the consumer equi-

librium is where the marginal utility from the last

penny spent on product 'a’ equals the utility from

the last penny spent on product b equals the util-

ity from the last penny spent on product n, thus

taking into account all of the products the indi-

vidual consumes. When this situation is reached it
is not possible for the individual to increase his
total utility by reallocating expenditure. So the con-
sumer equilibrium is important for it is where the
consumer has allocated his or her income in such a
way that maximum utility has been achieved. The
analysis assumes the following:

Satisfaction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-
tion of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant. Consumer has a fixed in-
come, and he will be spending on two normal
goods a and b. Product a costing £2.00 each and
product b costing £4.00 each, and that the indi-
vidual has an income per time period of £16.00. The
table below will help to explain consumer equilib-
rium.

(UOR B A

4 5 MU

The MU curve slopes downward, simply illustrat-
ing the principle of diminishing marginal utility.
The TU curve starts at the origin. When MU is
positive and diminishing, TU increases at a de-
creasing rate. TU reaches a peak when marginal
utility is zero. Marginal utility can be derived from
the TU curve. It is the slope of the line joining two
adjacent quantities on the curve. For example, the
marginal utility of the third cup of coffee is the
slope of the line joining points g and b. The slope
of such a line is given by the formula:

ATU
A units

We can extend our analysis of utility to explain
how a rational consumer decides what combination
of goods to buy from the given income. The un-
derlying principle is called equi-marginal utility.
The law states that the individual consumer js in
equilibrium when it is not possible to switch a
single penny’s worth of expenditure from one prod-

MU =

Product A Quantity Producty
ice £2.00 i

(price each) demanded (price £4.00 each)
MU, |ofproduct MU
TU, | MU, AandB | TUy | MU, [~
: Pn I)b
80 | 80 | 40 1 68 | 68 | 17
132'| 52:] 26 ) 100 32| 8
152 20 | 10 3 1281 28 | 7
168 16 | 8 4 152 24 | 6
176 | & 4 5 172 20 | s

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product 'a' and two of product 'b". Here
MU/P is the same, i.e. 8 for both products. Note
that in equilibrium the consumer spends £8 (£2 x 4)
on product 'a' and £8 (£4 x 2) on product 'b' and
obtains total utility of 268 utils. It is impossible for
the consumer with an income of £16.00 to obtain a
higher level of total utility. If the consumer were
not in equilibrium it would be possible for him to
reallocate his spending and obtain a greater level

of satisfaction.
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It is also possible to use marginal utility as a means
of deriving a demand curve. If; for instance, price
of product 'b' were to fall to £2.00, then assuming
everything clse remained constant, there would be
anew column for MU /Py and a new equilibrium
would result. In order to restore cequilibrium the
consumer would reduce consumption of product "o’
by 1 unit and increase the consumption of product
'b' by 3 units. Hence, he will consume 3 units of 'a’
and 5 units of 'b'" at the new equilibrium position,
We can use this example to construct the
consumer's demand curve for product 'b'as given
below;

A
Price $
4
2 D
0 >
2 4 . SQD

A decrease in Py has resulted an increase in QD,
because with the given income and new price of
product b consumers maximizes satisfaction at a
higher quantity of product b. Thus it is possiblec to
develop a theoretical link between utility, price and
the demand for a product.

Economic theory of consumer behavior assumes
rational choices based on costs and benefits of
choosing to buy any product. Thus it involves
considering the relative costs and benefits of the
alternatives consumers would spend their money
on. Consumers do this in order to gain the maxi-
mum satisfaction possible from their limited in-
comes. In other words consumers choose those
items that give them the best value for their money
i.e. the greatest benefit relative to cost.

So we can define rational consumer behavior as the
attempt to maximize consumer surplus. We define
consumer surplus as excess of what a person
would have been prepared to pay for a good over
what that person actually pays. The theory predicts
that people go on purchasing additional units of
any type of product as long as the price they are
prepared to pay exceeds the price they are charged.
But as more units are purchased so they will expe-
rience diminishing marginal utility i.e. they will be
willing to pay less and less for the additional unit.
As MU diminishes it becomes equal to price where
no more consumer surplus can be attained they
stop purchasing further units. At this point their

Question 5

optimum level of consumption has been reich
and the consumer surplus has been maximize
This particular behavior explains why demang
curves for a luxury product or a cheaper Produc
slopes downward from left to right. So, the lowse,
the price, regardless the type of product, the higy,
(he quantity the consumer buys and, therefore, .
higher the amount of surplus the consumer Baing,
So the rational consumer behavior remaing gy,
same for all different types of products, lmuginc’
for instance, you are on a regular shopping trip to
supermarket and you want (o buy coffee and yq,
need to choose between the top quality brapg
which, of coursie you consider a superior good of
buy an ordinary cheaper brand of coffee that yo,
feel is inferior in quality, To make a rational chojee
you need o weigh up the costs and bencefits of
cach alternative, ‘The top quality brand may give
you far more satisfaction i.c, higher marginal util-
ity, but it has a high opportunity cost; because it
is expensive, You will need to sacrifice larger quan-
titics of other goods if you decide to buy it, Instead
il"'you buy the cheap brand however, although you
may not gain as much satisfaction i.c. lower mar-
ginal utility but you will have more moncy left over
to buy other goods so it has a lower opportunity
cost. Your decision to buy onc of the two depends
on the amount of consumer surplus you are going
to obtain from cach of the two. You arc more likely
to choose the one that generates the highest
amount of consumer surplus,

Thus a good may be cheaper but it is possible that
its marginal utility is higher than its price and
hence it generates a higher amount of consumer
surplus than the standard or superior good. Alter-
natively the cheaper product might give lower
amount of consumer surplus and the consumer
decides to buy less of it and more of an expensive
product. In both cases the marginal utility will be
proportional to the price of each type of product.
So the theory is as valid for cheaper products as
for standard and superior good.

A study found that demand for tickets for exhibitions
at a major art gallery had unitary price elasticity.

Explain how the concept of diminishing marginal
utility may be used to construct a demand curve
for the product and whether that analysis still ap-
plies in the case of demand for tickets for the exhi-
bitions. (12l

[N12/P4/02(a)]
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Utility
(units)

i,

The theory of consumer behaviour explains con-
sumer cquilibrium with the help of utility analysis.
Utility is the satisfaction that people derive from
the consumption of goods and services. Total util-
ity (TU) and Marginal utility (MU) arc two impor-
tant measures of utility. TU is the total satis-faction
a consumer obtains from the consumption of all the
units of a good consumed. While MU utility is the
satisfaction gained from consuming one extra unit
of a good within a given time period. It is measured
by: TU,-TU,_, = MU,

According to the principle of diminishing marginal
utility, as morc units of a good are consumed suc-
cessively, an axtra unit will provide less additional
satisfaction than previous unit, For example, the
sccond cup of coffee in the morning gives us less
additional satisfaction than the first cup. The third
cup gives even less satisfaction. The relationship
between TU and MU is shown below:

16 1 TU

ATU=2

________ ¢ AQ=1

R A
_ ..-__-____\_‘

=2 4 1 2 3 4 5 MU

The MU curve slopes downward, simply illustrat-
ing the principle of diminishing marginal utility.
The TU curve starts at the origin. When MU is
positive and diminishing, TU increases at a de-
creasing rate. TU reaches a peak when marginal
utility is zero. Marginal utility can be derived from
the TU curve. It is the slope of the line joining two
adjacent quantities on the curve. For example, the
marginal utility of the third cup of coffee is the
slope of the line joining points a and b. The slope
of such a line is given by the formula:

ATU

A units

MU =

We can extend our analysis of utility to explain
how a rational consumer decides what combination
of goods to buy from the given income. The un-
derlying principle is called equimarginal utility. The
law states that the individual consumer is in equi-
librium when it is not possible to switch a single
penny’s worth of expenditure from one product to
another and obtain an increase in total utility. This

Essay occurs when:

MU, MU, MU,
Pa Pb - l)

n
Where A, B,.....n are the various goods consumed.

The above equation states that the consumer equi-
librium is where the marginal utility from the last
penny spent on product ‘a’ equals the utility from
the last penny spent on product b equals the util-
ity from the last penny spent on product s, thus
taking into account all of the products the indi-
vidual consumes. When this situation is reached it
is not possible for the individual to increase his
total utility by reallocating expenditure. So the con-
sumer equilibrium is important for it is where the
consumer has allocated his or her income in such a
way that maximum utility has been achieved. The
analysis assumes the following:

Satisfaction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-
tion of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant. Consumer has a fixed in-
come, and he will be spending on two normal
goods a and b. Product a costing £2.00 each and
product b costing £4.00 each, and that the indi-
vidual has an income per time period of £16.00. The

table below will help to explain consumer equilib-
rium.

Product A Quantity Product y
ice £2.00 eacl i joe :
(price cacl 2 demanded (price £4.00 cach)
MU, of product MU
TU, [MUy | 5= | AandB | TUy | MU, | 2
a pb
80 | 80 40 1 68 68 17
132 | 52 26 2 100 | 32 8
152 | 20 10 3 128 | 28 7
168 | 16 8 4 152 | 24 6
176 | 8 4 5 172 | 20 5

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product ‘a’ and two of product ‘b’. Here
MU/P is the same, i.e. 8 for both products. Note
that in equilibrium the consumer spends £8(£2 x 4)
on product ‘a’ and £8 (£4 x 2) on product ‘b’ and
obtains total utility of 268 utils. It is impossible for
the consumer with an income of £16.00 to obtain a
higher level of total utility. If the consumer were
not in equilibrium it would be possible for him to
reallocate his spending and obtain a greater level
of satisfaction.
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A decrease in Py has resulted an increase in QD
because with the given income and new price of
product b consumers maximizes satisfaction at a
higher quantity of product b. Thus it is possible to
develop a theoretical link between utility, price and
the demand for a product.

Unitary elastic demand implies that the demand
curve is sloping downwards from left to rightie. a
rise in P, if nothing else changes, causes QD to fall
with the same proportion and vice versa. Hence
the demand curve reflects diminishing marginal util-
ity. Thus the analysis of consumer equilibrium and
derivation of demand curve will apply to the de-
mand for tickets of exhibition as much as to any
other product with the normal downward sloping
demand curve.

Question 6

Explain how a consumer allocates expenditure ac-
cording to the principle of equi-marginal utility and
analyse how a change in income might affect that
allocation. [12]

[713/P4/02(a)]
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qecond cup of tea in the morning gives us s
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between TU and MU is shown below:
Utility
(units)

164 " I

ATU=2
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The MU curve slopes downward, simply illustrzt
ing the principle of diminishing marginal utility.
The TU curve starts at the origin. Marginal utility
can be derived from the TU curve. It is the slope of
the line joining two adjacent quantitiés on the
curve. The slope of such a line is given by the for-
mula:
ATU

A units

We can extend our analysis of utility to CXPl?m
how a rational consumer decides what combinai©”
of goods to buy from the given income. The l.m-
derlying principle is called equi-marginal utility
The law states that the individual consumer 7
equilibrium when it is not possible to switch I
expenditure from one product to another and ©7
tain an increase in total utility. This occurs whef:

MU, _ MU, _ MU,

B, P, TP,
Where a, b,,.....n are the various goods °°“5ume(-i:
The above equation states that the consumer eq”
librium is where the utility from the last money ! st
spent on product ‘a’ equals the utility from e y
money unit spent on product 'b' equals '

MU =
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from the last money unit spent on all other prod-
ucts, thus taking into account all of the products
the individual consumes. When this situation is
reached it is not possible for the individual to in-
crease his total utility by reallocating expenditure.
So the consumer equilibrium is important for it is
where the consumer has allocated his or her income
in such a way that maximum utility has been
achieved. The analysis assumes the following:

Satisfaction can be measured in utils, A util is an
imaginary unit of satisfaction from the consumption
of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant. Consumer has a fixed in-
come, and he will be spending on two normal goods
aand b. Prod-uct a costing £2.00 each and product
b costing £4.00 cach, and that the individual has
an income per time period of £16.00. The table be-
low will help to explain consumer equilibrium.

Unit | MU, | MU, MY, | MY

‘ ' P Py by
1 | 80 [e8| 40 [ 17 ]
2 52 | 32| 26 8
3 20 | 28 10 7
4 16 | 24 8 6
5 8 | 20 5

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product ‘a’ and two of product ‘b’. Here
MU/P is the same, i.e. 8 for both products. Note
that in equilibrium the consumer spends £8 (£2 x 4)
on product ‘a’ and £8 (£4 x 2) on product ‘b’ and
obtains total utility of 268 utils. It is impossible for
the consumer with an income of £16.00 to obtain a
higher level of total utility.

It is also possible to use marginal utility
as a means of deriving a demand curve. If,
for instance, price of product ‘b’ were to
fall to £2.00, then assuming everything
else remained constant, there would be a2 pice
new column for MU/P, and a new equi-
librium would result. In order to restore

equilibrium the consumer would reduce T | e T

consumption of product ‘a’ by 1 unit and P
increase the consumption of product ‘b’
by 3 units. Hence, he will consume 3 units

A
Price $
l 4
2 \D
0 2., il wi57QD

A decrease in P, has resulted an, increase in QD,
because with the given income and new price of
product b consumers maximizes satisfaction at a
higher quantity of product b. Thus it is possible to
develop a theoretical link between utility, price and
the demand for a product.

A decrease in P, has resulted an increase in QD,
because with the given income and new price of
product b consumers maximizes satisfaction at a
higher quantity of product b. Thus it is possible to
develop a theoretical link between utility, price and
the demand for a product.

So far we have analyzed that a change in price of 2
good brings a movement along the demand curve
assuming money income remains unchanged. Thus
each demand curve is drawn for a particular level
of income therefore a change in income must lead
to a shift in the demand curve itself.

When, for instance, income rises and the demand
curve shifts to the right, the good is described as
normal. In this case the good is said to have a
positive income effect i.e. consumer wants to buy
more of this good as his income increases. In other
case if demand falls i.e. it shifis to the left when
income rises we then describe the good as inferior
and the good is associated with negative income
effect. This simply means that consumption of the
good falls as income rises.

The graphs below show the effect of a rise in in-
come on the demand for a normal & inferior good.

of ‘2’ and $§ units of *b’ at the new equilib-
rium position. We can use this example to
construct the consumer’s demand curve
for product ‘b’ as given below;

Normal good Inferior good
A
S l’riccf S
¢
: Te .
________ ’
A JED S
: E D, : -
T k- D
g9 o 1%
9% Q - Q

In the figure on the left ariseinc  sumer income
led to the demand curve shifting to D, leading to a
shortage of e-b at the original price OP. This
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would cause price to rise to the new equilibrium P
As it did so there would be a movement along the
supply curve from point ¢ to point ¢; and along the
new demand curve (D)) from point b to ¢,. Move-
ment along the demand curve refers to a readjust-
ment by the consumer in order to restore MU/P
ratio. Equilibrium quantity would rise from q to q;.

Similarly a risc in consumer income led to the de-
mand curve to shift to the left leading to a surplus
¢ — b at the original pricc OP. This would cause
price to fall. As it did so, there would be a move-
ment downward along the supply curve from point
¢ to ¢, and along the demand curve D, from point
b - ¢,. Again movement along the demand curve
refers to a readjustment of allocation of expenditure
in order to restore equilibrium where MU/P,

Question 7

(@) Use the theory of marginal utility to analyse how a
consumer will normally buy more of a product at a
lower price than at a higher price and explain how
this theory can be used to derive a market demand
curve. [12]

(b) Economic texts examine market equilibrium. Dis-
cuss whether it is the consumer or the producer
who determines the equilibrium market price and
whether consumers have the same power in all
types of market structure. [13]

[N13/P4/02]

Essay

(@ The theory of consumer behaviour explains con-

sumer equilibrium with the help of equi-marginal
principle. Utility is the satisfaction that people de-
rive from the consumption of goods and services.
TU is the total satisfaction a consumer obtains
from the consumption of all the units of a good
consumed. While MU utility is the satisfaction
gained from consuming one extra unit of a good
within a given time period. It is measured by:
TU,-TU,_, =MU.
The law of equi-marginal utility states that the in-
dividual consumer is in equilibrium when it is not
possible to switch a single penny’s worth of ex-
penditure from one product to another and obtain
an increase in total utility. This occurs when:

MU, _ MU, _ MU,
P, a P b . Pn
Where A, B, ....., n are the various goods
consumed.

pQEQ 1(
The above equation states that the Congyy.
librium is where the marginal utility fmmtr %4
penny spent on product ‘a’ equals the utiy x&‘!—_—)
the last penny spent on product b equals thgm”
ity from the last penny spent on Produg n- g
taking into account all of the products the'-_:-i
vidual consumes. When this situation js r%c}::"
is not possible for the individual to inc,%':f.
total utility by reallocating expenditure, 5, the-c:'
sumer equilibrium is important for it is where
consumer has allocated his or her income in Smgl.'
way that maximum utility has been achieveq, T‘:
analysis assumes the following: -

Satisfaction can be measured in utils. A ygj| is %
imaginary unit of satisfaction from the COnsums,
tion of a good. Consumer is rational, and therefo;
wants to maximize satisfaction also his taste g
preferences are constant. Consumer has a fix
income, and he will be spending on two normy
goods a and b. Product a costing £2.00 each ap
product b costing £4.00 each, and that the ind;.
vidual has an income per time period of £16.00. T
table below will help to explain consumer equilib-
rum.

Unit | MU, [MU, N:,U“ ‘\:,U"
a b
1 80 | 68 | 40 17
2 52 | 32| 26 8
3 20 | 28| 10 7
4 16 | 24 8 6
5 8 2ol = 5

Given this situation, it can be seen that the con-
sumer is in equilibrium when he consumes four
units of product ‘a’ and two of product ‘b’. Here
MU/P is the same, i.e. 8 for both products. Note
that in equilibrium the consumer spends £8 (£2 x 4)
on product ‘a’ and £8 (£4 x 2) on product ‘b’ and
obtains total utility of 268 utils. It is impossible for
the consumer with an income of £16.00 to obtain a
higher level of total utility.

It is also possible to use marginal utility as a means
of deriving a demand curve. If, for instance, pric¢
of product ‘b’ were to fall to £2.00, then assuming
everything else remained constant, there woulq be
a new column for MU,/P, and a new equilibrium
would result. In order to restore equilibrium the
consumer would reduce consumption of Pmd”;‘
‘a’ by 1 unit and increase the consumption of PTQIS'
uct ‘b’ by 3 units. Hence, he will consume - ! ]
of ‘a’ and 5 units of ‘b’ at the new equilibrit®

{
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I hix i What each consumer does, it s also what
all consumers taken togother do. Thus the theory
afconsumer behavior predicts o negatively sloped
warket demand curve, The market demand curve is
the horizontal sum ot the quantities demanded by
all individual buyers at various prices per period of
time: o market demand curve represents the ag-
grepation of demand curves of all individual buy-
e, Assuming there are only three two buyers of
the product and we have already derived the de-
mand curve for individual buyers using utility prin-
ciple, The graph below shows the aggregation.

Market
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The figure above illustrates the aggregation over
consumers, At a price of 89 consumer A buys 2
units and consumer B buys 7 units: thus together
they purchase 9 units, yielding one point on the
market demand curve. We generate the second
point on $6 in the same manner and hence derive
the market demand curve. No matter how many

consumers at ezch price. and the result is the
market demand curve.

So. by the use of waliyy it is possible to demon-
staze the logic of “rational” consumer choice and
derive the demand curve of an individual con-
sumer. The market demand curve is derived simply

By agwrecnsion of individezls” demand curves.

Toplt 14 77 puges 16

by Masthets see dominmtod by constimets when re-

nonees s wloewted gecording 1o theie wishes,
Il wstinlly oocors b perleatly fres madket, €2
st wpending s compiarabile (o v in an cles
o, e businesses vililch receive the ipest gites
will e able o purchase the factors of production
needed (o produce the pgoods demanded by con-
atmers, 'Therefore the finns recsiving no sotes will
1o out of business,

Total contumer sovercignty only exzists if there s
perfeet knowledge or perfect information in the
kel place, I consumers are to allocate their re-
sources ina way that maximise their utility, they
need to know about the products they are buying.
In many cascs, consumers arc well placed to make
consumption decisions. A, consumer, for instance,
is likely to be the best judge of whether to buy
bananas or apples.

So far as the theory of firms is concerned, con-
sumer are said to be sovereign in a perfectly com-
petitive market. Perfect competition is character-
ized by large number of relatively small firms pro-
ducing homogeneous products in the absence of
entry exit barriers. Price in such conditions is de-
termined by total demand and supply forces in the
market and each individual firm produces just a
fraction of total output, therefore, a change in out-
put by an individual firm does not affect the total
market supply and hence the market price. Thus all
the firms are price takers and each firm faces a per-
fectly elastic demand curve.

So, due to the highest degree of competition
among firms, it is the collective decisions of con-
sumers that decide what is produced, the quality,
the distribution and the price charged. Firms pro-
ducing products against the wishes of consumer
would find it hard to survive. The consumer gains
from the low price, since not only arc costs kept
low, but also there are no long run supernormal
profits to add to cost. The consumers also cnjoy
allocative efficiency as not only they consumc the
products that they demand for but consume them
up to the desired level. The consumer surplus is
also maximised in that the consumers pay the low-
est price possible for all quantities bought,

However, there are markets where consumers’
dominance does not exist and they have to surren-
der their sovereignty to prodncers mainly duc to
the lack of sufficient competition. In a monopoly
market situation the consumer would not be ‘king’,
This is because the producer, due to his better
bargzining position, would decide on what (6 be
preduced, how to be produced, how much and for
whom to be preduced. The monopolist can raise its

PR
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costing £2.00 cach and product b costing £4.00 each,
and that the individual has an income per time period
of £16.00. The table below will help to explain consumer
equilibaium,

Gait | MU, | My, | MY | MU,

P, P
1 100 160 50 40
2 % 140 45 35
3 80 120 40 30
4 70 100 35 25
5 60 80 30 20
6 50 60 25 15
7 40 40 20 10
8 30 20 15 5

Given this-situ‘a}\ion, it can Be seen that the consumer
is in equilibrium when he consumes four units of prod-
uct ‘a’ and two of product ‘b’. Here MU/P for both
goods is the same, i.e. 35. Note that in equilibrium the
consumer spends £8(£2 x 4) on product ‘a’ and £8

(£4 x2) on product ‘b’ and obtains total utility of 640.
It is impossible for the consumer with an income of
£16.00 to obtain a higher level of total utility than this.

It is possible to derive a demand curve by using mar-
ginal utility. Let’s assume that price of product ‘b’ rises
to £10.00, assuming everything else constant, there
would be a new column for MU/P and a new equilib-
rium would result. In order to restore equilibrium the
consumer would reduce consumption of product ‘a’ to
1 unit and of product ‘b’ to 3 units. Hence, consuming
3 units of ‘a’ and 1 unit of ‘b’ is the new equilibrium
position. His spending on each of the two products
would also change. At the new equilibrium his expen-
diture on product ‘a’ would fall to £6 (£2 x 3) and on
product ‘b’ rise to £10 (£10 x 1). Thus a rise in the price
of product ‘b’ would result in a decrease in its QD.

A
Price (8)
10f------ ,
1
T |
]
1
V) D— dommaasd '
1 ' \D
l |
0 | >
1 2 g

The graph above shows an-increase in Py leading to a
decrease in QD, because with the given income and
new price consumer maximizes satisfaction at a lower
quantity of product b. Thus it is possible to develop a
theoretical link between utility, price and the demand
for a product. If this is what each consumer does, it is

also what all consumers taken together do. Thus the
theory of consumer behavior predicts a ncgatively
sloped market demand curve.

It is also possible to use marginal utility as a means of
identifying new equilibrium position when consumc.r's
money income rises. Let’s assume that the money In-
come of the consumer increases to £34, then assuming
everything clse constant, he would again make an ad-
justment in his purchases in order to achieve equilib-
rium at new quantities. The effects of rise in income on
his purchases are shown on the graphs below.

(good a) (good b)
Price (S)‘ Price (S)
Y —
P !
i n; D 5 D D"
0 S 7T o 0 2 3 Q

At the new income level his equilibrium occurs when
he buys 7 units of good ‘a’ and 5 units of good ‘b’.
Thus he purchases more of both goods and maximizes
satisfaction.

So far as the advertisement is concerned its major aim
is to sell the product. This can be achieved not only by
informing the consumer of the product’s existence and
availability, but also by deliberately trying to persuade
consumers to purchase the goods. Consumers need in-
formation about product characteristics and prices to
make rational decisions. Advertising can be a low-cost
means of providing that information.

The assertion in the question actually implies that
much advertising is designed to manipulate or persuade
consumers, that is, to alter their taste in favor of the
advertiser’s product. For instance, a television commer-
cig| indicating that a popular personality drinks a par-
ticylar brand of soft drink — and therefore that you
should too — conveys little or no information to con-
sumers about price or quality. Therefore, it encourages
irrational consumption and influences allocation of re-
sources. To counter this view economists argue that
consumers buy what they desire for or at least what
they are made to think they crave for through adver-
tisement. As long as they buy commodities which they
feel will satisfy their craving they act rationally.

Fram the discussion above it follows that the theory of
marginal utility can be extended to show how a con-
sumer behaves when either the price of a good or his
money income has changed. Not only has this but it
also provided a logical explanation of consumer behay-
ior when advertisement changes his taste. So it can be
assessed that the marginal utility is a useful guide to
consumer behavior in varying circumstances.
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Question 9 - v S

Describe how consumer theory suggests a rise in
income will cause a consumer’s demand to change
for a normal good and for an inferior good.  [12]

[J15/P4/02(a)]

Essay
Effective demand is the desire to buy a good
backed by the ability to pay the market price.
Therefore, it is obvious that therc must be a rela-
tionship between demand for a product and the
consumer’s ability that is referred to his purchas-
ing power. According to the consumer theory pur-
chasing power is affected by changes in income
therefore the two are closely linked. The nature of
this relationship, however, depends upon the type
of product in question and the level of income. It
is held that if other things remaining unchanged
demand for a normal good rises as income in-
creases and vice versa. Such good is said to have
a positive income effect as there exists a direct re-
lationship between consumer’s income and his de-
mand for that good. If, however, demand for a
good falls as income rises the good is said to have
a negative income cffect and it’s identified as an

inferior good.
Following graph illustrates these relationships.

Quanli!y*
Normal goods
]
l .
! Inferior goods
: .
0 income

It can be noted that demand for a normal good rises
continuously with income. However the graph
tends to flatten out at higher levels of income be-
cause people get close to their saturating point. For
some normal goods such as fresh vegetables the
curve flatten very quickly as people reach their
desired level of consumption. We can also observe
that demand for inferior goods behaves like the
demand curve for normal goods at lower level of
income. This suggests that all inferior goods start
out as normal goods and become inferior only as
income continues to rise. Initially people will in-
crease their demand for potatoes, for instance, but
as their incomes rise beyond a certain point they
will buy other items of food such as meat, fish

fresh fruits ctc. This is because they . %
potatoes with other food items that they re. M.,
better food jtems.
In both cases how much demand Fespon.
change in income depends on income "'aStir:‘ti"’
demand. Income elasticity of demand (YE[))‘;.J.;'{
responsiveness of demand for a Pmdu:;':"
changes in income. The coefficient of YE[ ;g r‘_:
sured by the following. =
Percentage change in the quantity demgy, ,
Percentage change in the income ~

i
ez,
e g
gar4
gard .,

YED =

So, the coefficient of YED tells us what the Y
change in the quantity demanded for a gooq;,
following a given change in the income of the ¢,
sumer. These % changes are calculated by diyid;
ing the change in income by the original incor,
and the change in quantity demanded by the orig.
nal quantity demanded.

Regardless of sign when the coefficient of
YED> 1, demand is said to be income elastic. This
is the case when the percentage change in quan-
tity demanded outweighs the percentage changein
income. When, however, coefficient of YED <1,
demand is said to be income inelastic. In that case
percentage change in income outweighs percent-
age change in demand. Demand is unitary elastic
when proportionate changes in demand and in-
come are identical. There may be a case of zern
income elastic demand. It is when a change in in-
come has no effect whatsoever on the quantity
demanded.

With income elasticity of demand the sign attached
the ratio is all important. A plus sign (+) signifies2
normal good whereas a minus sign (—) reveals that
the good in question is ‘inferior’. For most goods
the coefficient of YED is positive i.e. demand fora
normal good always rises with income. Normal
goods are further classified into: (i) Superior g00ds
(luxury goods) for which income elasticity of de-
mand is greater than unity, and (ii) Basic goods for
which income elasticity of demand is less than I-

Although the quantity demanded of a normal good
always rises with income, it rises more than propor
tionately for a superior good, for example, luxury
cars. Conversely, demand for a basic good such as
detergent rises at a slower rate than income. The
negative coefficient, however, suggests t!wl de-
mand falls as income rises or it rises when income
falls. Consumers, for instance, decrease the Pf':_'
chase of goods, such as used clothes, as their I
comes risc.

So according to the theory consumers’ df‘“l‘f“';g
rises with income for normal goods and falls ¢

income rises for inferior goods. g
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Question 1 0

Consumers decide what they wish to buy and as a re-
sult direct the market. Producers develop new prod-
ucts, which they then promote by advertising, in order
to maximise profits. Without producers there would be
no products to buy.

(@) Explain how economic theory predicts what a
rational consumer decides to buy. [12]

[N15/P4/Q2(a)]

Essay

(@) Given the limited income the consumer has to make
choices between all goods and services he would
like to consume. He is said to act rationally if he
weighs up costs and benefits of each additional
unit of a good he purchases. We can use marginal
utility analysis to show how a rational person de-
cides what combination of goods to buy.

Utility is the satisfaction that people derive from
the consumption of goods and services. Total util-
ity (TU) and Marginal utility (MU) are two impor-
tant measures of utility. Total utility (TU) is the
total satisfaction a consumer obtains from the con-
sumption of all the units of a good consumed.
While marginal utility (MU) is the satisfaction
gained from consuming one extra unit of a good
within a given time period. MU is measured as:
TU,-TU,_,=MU.

According to the principle of diminishing marginal
utility, as more units of a good are consumed suc-
cessively, each extra unit will provide less addi-
tional satisfaction than previous unit. For example,
the second bar of chocolate gives us less addi-
tional satisfaction than the first bar. The third bar
gives even less satisfaction.

Now we extend our analysis of utility to explain
how a rational consumer decides what combination
of goods to buy from the given income. The un-
derlying principle is called equi-marginal utility.
The law states that the individual consumer is in
cquilibrium when it is not possible to obtain an
increase in total utility by switching expenditure
from one product to another. This occurs when:

MU, MUy ... MU,
Pa l)l) P"
Where a,b,,....n are the various goods consumed.

The above equation states that the consumer is in
equilibrium when the marginal utility from the last
money unit spent on each product yields the same
satisfaction. So the consumer equilibrium is impor-

tant for it is where the consumer has allocated his
or her income in such a way that the maximum util-
ity has been achieved. If the consumer is not in
disequilibrium then he would continue switching
his expenditure in favour of a good that gives him
better value of his money until he obtains the same
utility from the last money unit spent on each
good.

In order to illustrate this principle we assume that
satisfaction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-
tion of a good. Consumer is rational, and therefore
wants to maximize satisfaction also his taste and
preferences are constant. Consumer has a fixed in-
come, and he will be spending on two normal
goods X and Y. Let’s also assume that good X
costs twice as much as good Y but it gives three
times as much satisfaction as good Y. When we
apply this to the formula we obtain the following
result:

MU, 3 qP_2
MU ‘

¥ X
So with the current purchase the consumer finds
that

MU

5 P
MU

X

¥ P,r

In the current situation the consumer is not maxi-
mizing satisfaction and in order to achieve maxi-
mum satisfaction the consumer must increase his
purchase of good X relative to that of good Y. But
as he buys more of good X, according to the law
of diminishing marginal utility , the marginal utility
of good X will fall. Simultaneously if reduces his
purchase of good Y marginal utility of good Y will
rise. The consumer should stop adjusting the bal-
ance of his purchases of goods X and Y when the
marginal utility ratio is the same as the price ratio.
In equation we can write it as:

MU, MU,

P P

x ¥

At this point no further gain can be made by
switching from one good to the other and there-
fore it suggests that the consumer’s total utility is
maximized for any given amount of income spent
on these two goods. This can be applied to any
number of goods the consumer intends to pur-
chase.

So, the consumer theory predicts that a rational
consumer decides to buy certain quantities of
goods by following the principle of equi-marginal
utility.



A Level Economics (Essays)

Topic 11 < Page 7,

Question 11

With the help of diagrams, use indifference analysis to:

@)

@®

explain what is meant in cconomic theory by
consumer cquilibrium and how it is related to a
consumer's demand curve. [12]

discuss how this equilibrium might be affected by
a government fiscal policy that raises taxes on
goods. [13]

[J16/P4/03]

Essay

(8 In the real world, given the limited incomes, con-

sumers have to make choices about what to buy
and how much. Since they do not want to waste
their money, therefore consumer thcory assumecs
that they act rationally i.e. they ensure that the
benefits of what they are buying are worth the
expense. It therefore suggests that a consumer is
in equilibrium when he gets the best value for
money from his or her purchases.

An indifference curve shows various combinations
of two goods between which a consumer is indif-
ferent i.e. those combinations that give an equal
amount of satisfaction or utility. A typical Ic slopes
downward from left to right and it is usually drawn
bowed in towards the origin. Its slope gets shal-
lower as we move down the curve due to the di-
minishing marginal rate of substitution. MRS is the
rate at which the consumer is willing to substitute
one good for the other maintaining the overall sat-
isfaction intact. It therefore represents the marginal
utility ratio (MU, / MU, ). We can draw more than
one indifference curves where each indifference
curve further out to the right would show a combi-
nation of two goods that give a higher level of
satisfaction.

An indifference map illustrates people's prefer-
ences, but the actual choices they make will de-
pend on their incomes. The budget line, therefore,
is the other important element in this analysis. The
budget line shows what combinations of two
goods a consumer is able to buy at given prices
and or a given budget. It, therefore, represents
price ratio (P, /P,). Let us examine the following
graph where we put the two elements — the indif-
ference map and a budget line — together. This will
enable us to show how much of each of the two

goods the 'rational' consumer will buy from a given
budget.

goods y

—
=}

O

Economic theory predicts that a rational consume;
would like to consume along the highest possible
indifference curve. This is curve I, at point ¢,
Higher indifference curve I;, although representing
higher utility than curve I,, represents combina-
tions of x and y that cannot be afforded with the
current budget. The consumer could consume
along curve I, but it gives a lower level of utility
than consuming at point e. The optimum consump-
tion point for the consumer, then, is where the
budget line is 'tangential to' the highest possible
indifference curve. This is where the MU ratio
equals price ratio. At any other point along the
budget line, the consumer would get a lower level
of utility.

We can establish the relationship between a
consumer's equilibrium and his demand curve by
using income and substitution effects of price
change. Let's assume that the price of goods x
rises, consumer will purchase less of it for two rea-
sons: Firstly he cannot afford to buy so much due
to the income effect. Secondly, the good is now
more expensive relative to other goods. He, there-
fore, substitutes alternatives for it. This is the sub-
stitution eftect. Consider the following graph;
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goods x
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The price of normal good x has risen and the bud-
get line has pivoted inwards from AB to AC. The
consumption point has moved from n to h,
Part of this fall in consumption is due to the sub-
stitution effect and part is due to the income effect.
To separate these two effects a new budget line is
drawn, parallel to AC but tangential to the original
indifference curve I,. Being parallel to AC, it repre-
sents the new price ratio i.e. the higher price of
good X, however, it enables the consumer to ob-
tain the same utility as before because there is no
loss in real income to the consumer. So, we have
excluded the income effect and therefore the move-
ment from Q, to Q, is due purely to a change in
the relative prices of x and y.
In reality, the budget line has shifted to AC and the
consumer is forced to consume on a lower indiffer-
ence curve I,: real income has fallen. Thus the
movement from Q, to Q; is the income effect. In
the case of a normal good, therefore, the income
and substitution effects of a price change reinforce
each other. They are both -negative: they both in-
volve a reduction in the quantity demanded as
price rises.
In order to derive the consumer's demand curve for
good x we need to show the effect on the con-
sumption of x of a change in the price of x assum-
ing the prices of all other goods are held constant.
We illustrate the rise in price of x by pivoting the
budget line inward on the upper part. It is then a

()
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slmple matter of transferring these price-quantity
relatlonships on to a demand curve, In figure
above point n and h on the demand curve in the

lower part of the dingram corresponds to the two
points on the upper part of the graph.

Fiscal policy involves the use of government
spending, and taxation to influence both the pat-
tern of cconomic activity and also the level and
growth of aggregate demand, output and cmploy-
ment. While Deflationary fiscal policy is raising
taxes in some form that is detrimental to consumer

expenditure.

An increase in direct taxes, for instance, would re-
duce disposable incomes and therefore would in-
fluence purchases of different goods and services.

Graph below explains this;

i

goods y

0 goods x

A decrease in income caused by higher rates of a
direct tax, say income tax, is represented by a par-
allel shift inwards of the budget line assuming no
change in the price of x and y. This will then lead
to a new optimum consumption point e, on a lower
indifference curve. In other words, people can buy
less than they did before. A uniform increase in
indirect tax on all goods might also produce the
same effect on consumers' real incomes.

Indifference curve can also be used to analyse the
effects on consumers' purchase of different goods
when government increases tax on selected items.
Consider the following graph where 'x' is a normal

good.

‘r income
eftect
A
m substitution eftect
goods y \
h
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An increase intax on pood x has increased its price
and the budget line has pivoted inwards from Al
o AC. The consumption point has moved from
point 1o point h. Part of this shiftin consumption
is due 1o the substitution effect and part 15 due 19
the income effect,
In order o reach the new equilibrium 2t point b first
the cansumer would substitute good x with its rels-
tively cheaper substitute, ‘The substitution effect js
shown by dreawing a new dotted budget line paral-
Jel 1o BC but tangential w the original indiffercpee
curve 1y at point m, Being tangential (o 1 enghles
the consumer to obtain the same utility as before,
in other words, there is no Joss in real income 1o
the consumer, " Thus the maovement from O, 19 0, js
the substitution cffect, In reality, the budget line
has shifted to BC and the consumer s forced 1o
consume o a lover indifference curve 1, real in-
come has fallen, Thus the movement from O, 10 (),
i5 the income effect, In case of a nonmal good,
therefore, the income and substitution effects of 4
price change reinforee each other, "Ihey are both
negative; they both involye a reduction in the
quantity demanded as price rises
The bigger the income and substitution effects, the
higher will be the price clasticity of demand for
pood £,
[f the good subject to higher tax Js inferior then the
substitution effect will be in the same dircction a4
for a normal good: e, it will be negative, People
vill consume less 7 relative 1oy, since 7 is now
maore expensive relative (o y, For cxample, if the
price of inferior-quality margarine vient up, people
would tend 1o use better-quality iargarine or but-
ter (good y) instead, 'This s illustrated in Vigure
below,

4
Al 1
\)"’ "\ml)‘alim!i«m effect
" ‘o ——
AU :\\ — i
: :\: .’\” ‘
I - Noanl b
0 (),(_), l), proods ¥
<
RE

Agaln the substitution effect Is indicated by a
movement slong the original indifference curve 1,
from point 1w to point m, The quantity of X

TOp‘C11 7 P 7
demanded falls from O, 40 O, Ve fnesnne 1,
the price n,':, howeyer, il ;),, the Oppen; ff,,i"f'
for a postial youd, The sedudion in re) ( -
from the tive in pnr/, o 7 il tend 1 s Pt e
consumption of 7, sinwe with z $23 in re4) i/, e
more inferior yoods will non be purchaes
duding smose x. Thus ;mm hist ;,.ﬂ'n/,m//'
m; the income effed increaves guzitity tu, f10
Oy 1 Oy Oyer 2l substitution effedt oy,
inuome cffet therefore O of inferior yersd is ;;v,,/f;
10 decrease from Qg 10 (),

It, therefore, fullows that increase in 122 on diste,,
ent goods il increase heir prices Wnich wilf 4.
fect their quantity demandod pml/ due 10 the
stitution effect and partly due v incume effos,

s

Ouestlon 12

(1) A number of consumers are deciding whather 1,
buy a product, How far docs economic theory e
plain the determination of the market demand curys
for that product? [17)

(h) Discuss whether that theory s still valid if the peo-
ducer df:t,uiv:f, 1o adventise the product, and con-
sider the effects of the advertising on the demand
curye for the product, [13]

[MIG/141)3]

Issay

() Ihe theory of consumer behaviour cxplaing con-
sumer cquilibrium with the help of utility analysis,
Utility is the satisfaction that people derive from
the consumption of goods and services, Total util-
ity C1'U) and Marginal wtility (MU) are two impor-
tant measures of utility, ‘TU is the total  satisfac-
tion # consumer obtaing from the consumption of
all the units of a pood consumed, While MU utility
i the satisfaction gained from consuming one cx-
fra unit of o good within a given time period, [t is
measured by: TU, - TU, , = MU,
According to the principle of diminishing marginal
utility, ns more units of a good are consumed suc-
cennlvely, each additional unit will provide less
ndditional satisfaction than prcviuu'i unit, For cx-
ample, the second cup of coffee in the morning
pives us lens additional satisfaction than the first
cup, ‘The third cup gives even less satisfaction.
The relationship between TU and MU is shown
below:
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Utility tlon ofa good, Conaumer la ratlonal, nnd therofore
(units) wants to maximizo satisfhetion nlso hia tasto and
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Marginal utility can be derived from the TU curve.
It is the slope of the line joining two adjacent quan-
tities on the curve. For example, the marginal utility
of the third cup of coffee is the slope of the line
joining points a and b. The slope of such a line is
given by the formula:

ATU
Aunits

MU =

We can extend our analysis of utility to explain
how a rational consumer decides what combination
of goods to buy from the given income. The un-
derlying principle is called equi-marginal utility.
The law states that the individual consumer is in
equilibrium when it is not possible to switch a
single penny’s worth of expenditure from one prod-
uct to another and obtain an increase in total util-
ity. This occurs when:

preferencos nro constant, Consumer has n fixed -
come, and he will be sponding on two normal
goods n and b, Given this situation, it can be
worked out that the consumer is in equilibriom
when;

_M_U_l_l_ ~ MUDb

Pa  Pb
In order to derive the consumer's demand curve for
good a, for instance, we need to show the cffect
on its consumption of change in its pricc, assum-
ing the prices of all other goods arc constant. Say,
for instance, price of good a decreases it thercfore
disturbs consumer's equilibrium — the two frac-
tions are not equal any more. The situation now is;

MUa . MUb
Pa Pb

In order to equate these two ratios the consumer
now must purchase more of good a so that MUa
decreases and hence lowers the value of its frac-
tion until the two fractions are equal again — the
equilibrium. It is then a simple matter of transfer-
ring these price-quantity relationships on to a de-
mand curve.

The market demand curve is the horizontal sum of
the quantities demanded by all individual buyers
at various prices per period of time. Assuming
there are only three two buyers of the product and

. MUa MUb MUn we have already derived the demand curve for
Pa’ - Pp e Pn individual buyers using utility principle. The graph
below shows the aggregation.
Where A,B,,.....n are the
various goods consumed. (B) A ket
The above equation states IS = F= =)
that the consumer equilib- E i
rium is where the marginal P Tl | R ,
utility from the last penny E Ds E } Dan
spent on product 'a' equals = > 5 5 s>

the utility from the last Quantity

penny spent on product b equals the utility from
the last penny spent on product 'n', thus taking
into account all of the products the individual con-
sumes. When this situation is reached it is not
possible for the individual to increase his total
utility by reallocating expenditure. So the con-
sumer equilibrium is important for it is where the
consumer has allocated his or her income in such
a way that maximum utility has been achieved. The
analysis assumes the following:

Satisfaction can be measured in utils. A util is an
imaginary unit of satisfaction from the consump-

At a price of $9 consumer A buys 2 units and con-
sumer B buys 7 units; thus together they purchase
9 units, yielding one point on the market demand
curve. We generate the second point on $6 in the
same manner and hence derive the market demand
curve. No matter how many consumers are in-
volved, the process is the same.

So, by the use of utility it is possible to demon-
strate the logic of 'rational' consumer choice and
derive the demand curve of an individual con-
sumer. The market demand curve then is simply an
aggregation of individuals' demand curves.




() As consumers if we h

C

ad unlimited income, We€

could consume as much as we wanted. We would
not have to be careful with our money. In ll.u: real
world, however, given the problem of scarcity, We
have to make choices about what to buy. For in-
stance, you may have to choose between 'the new
books you feel you ought to buy and going to @
rock concert, between a new pair of jeans and a
meal out, and so on. It is here that cconomic theory
assumes that consumers behave 'rationally’. We
define rational choices as the weighing-up of the
costs and benefits of our actions. As far as con-
sumption is concerned, rational action involves
considering the relative costs and benefits to us of
the alternatives we could spend our money on. We
do this in order to gain the maximum satisfaction
possible from our limited incomes.
Sometimes we may act 'irrationally’. We may pur-
chase goods impetuously or out of habit, with little
thought to their price or quality. In general, how-
ever, it is a reasonably accurate assumption that
people behave rationally. In other words, consum-
ers learn over time the sort of products they like
and therefore, they can probably make out a 'ra-
tional' shopping list for themselves.
On the other hand, the major aim of advertising is
to sell the product. This can be achieved not only
by informing the consumer of the product's exist-
ence and availability, but also by deliberately try-
ing to persuade consumers to purchase the goods.
Successful advertising will not only increase de-
mand, but also make the firm's demand curve less
elastic since it stresses the specific qualities of this
firm's product over its rivals.
Consumers need information about product char-
acteristics and prices to makc rational decisions.

o

A Level Economics (Essays) . X
In particular, with major items of expendjy,..
. r L

)

Topic 11 & Pagy .

as a house, a car, a carpet or a foreign hoﬁd; £
are likely to take much more care. Take the o, ™
A,

o

a foreign holiday: you will probably speng Gk

g time browsing through brochures Comi,'f*

lon
the relative merits of various holiday Pac}:"‘
against their relative costs, looking for a hs;ﬁ

that gives good value for money. This is a rpy;, -

behaviour. a
But it may not turn out to be nearly as good 5.,
brochure led you to believe. This is a proble,-r,h.f
ignorance. You probably nevertheless behayeq ..
tionally in the first place, believing that yoy A;
getting value for money. We, therefore, mus: ,,,
confuse irrationality and ignorance. The assm—:.:
tion that consumers behave rationally does ‘:,
mean that they have perfect information.

Also, the term 'rational’ simply refers to behavig..
that is consistent with consumers' own particylz
goals, i.e. behaviour directed to getting the mes
out of their limited income. People may well diszp
prove of the things that others buy - their clothes
their records, their cigarettes, but that is making:
judgment about their goals: their taste and mora.
ity. Economic theory does not make judgment
about what people's goal should be instead we uss
them to analyse the implications of people behay-
ing rationally in pursuit of these goals.

Thus, it can be concluded that advertisement in-
deed influences the demand curve it, however,
does not mean a decrease in rationality. In fact, 2d-
vertisement through better information makes in-
formed choices more likely.

4

Advertising can be a low-cost means of providing
that information.

The assertion in the question actually implies that
much advertising is designed to manipulate or per-
suade consumers, that is, to alter their preferences
in favor of the advertiser's product. A television
commercial, for instance, indicating that a popular
personality drinks a particular brand of soft drink
— and therefore that you should too — conveys
little or no information to consumers about price or

Question 13

Choice is an essential part of economics. Sometimes
consumers change their choices either when shops
have special offers on previously very expensive luxury
products, or when advertising persuades them to
change their preferences.

Analyse how the economic theory of indifference
curves can be used to construct a consumer’s demat

curve. Discuss whether this theory can explain the

quality. Therefore, it encourages irrational con-

) A " above ch i i >

sumption and influences allocation of resources. ngestinjchoice, 2

To counter this view economists argue that con- [J17/P4/Q-’]
I

sumers buy what they desire for or at least what

they- are made to think they crave for through ad-

vértisement. As long as they buy commodities

wh'ich they feel will satisfy their craving they act

rationally. |
l

k. ; g
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the limited incomes, consumers
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than 1,, but it represents combinations of X and Y that
cannot be afforded with the current budget. The con-
sumer could consume along curve I, but it gives a
Jower level of utility than 1, at point e. The optimum
consumption point for the consumer therefore is where
the budget line is ‘tangential 10’ the highest possible
indifference curve. This is where the MU ratio equzls
price ratio.

We can establish the relationship between 2
consumer’s equilibrium and his demand curve by using
income and substitution effects of a price change. Let’s
assume that the price of 2 normal good X rises, con-
sumer will purchase less of it for two reasons: Firstly
he cannot zfford to buy so much due to the income
effect. Secondly, the good is now more expensive rela-
tive to other goods. He, therefore, substitutes alterna-
tives for it. This is the substitution effect. Consider the

following graph;

P income
eflect

poud Y

U
a
p S

)

OO O Qgowd X)

The price of nornal good X has risen and the Hudget
ling has pivoted inwards from A5 1 AC. The consiny-
tion puint has moved from 0 1o b, Part of this !l i
consumption is due o the substitution effeot and part
it due 1 the ingome eHect, o separate these 1wy of
fedds a new budget line js drawn, parallel 10 AC byt
tangential 19 the original indifforence curve 1) at point
. eing pardllel 10 AC, it represeuts the new price i
tio e, the higher price of good X, however, it endbles
the consumer 10 obtain the same utility as betore be-
cause there s no losy In reul ingome (9 the coosumer,
50, we have excluded the ingome effuct and theretore
the movement from O 10 (), is due purely 9 @ change
in the relative prices of X and Y.
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In reality, the budget line has shifed to AC and the
consumer is forced to consume on a lower indifference
curve 1,: real income has fallen. Thus the movement
from Q, to Qy is the income effect, In the case ol n
normal good the income and substitution effeets of o
price change reinforce each other. They are both nega-
tive: they both involve a reduction in the quantity de-
manded as price riscs.
In order to derive the consumer’s demand curve for
good X we need to show the cflect on the consump-
tion of good X of a change in its assuming the prices
of all other goods are held constant. We illustrate the
rise in price of X by pivoting the budget linc inward on
the upper part. It is then a simple matter of transferring
these price-quantity relationships on to a demand
curve. In figure above point n and h on the demand
curve in the lower part of the diagram corresponds to
the two points on the upper part of the graph.

We can use indifference curve theory in order to ex-
plain changes in consumer choices when shops have
special offers on previously very expensive luxury
products. These products usually have relatively in-
come elastic demand. This implies that the proportion-
ate change in QD is larger than the given change in
income. This suggests that the income effect of a fall in
price will have a larger share in over all change in QD.

1

A
all other
goods
[}
I
]
I 1
[
[} ] I
1 | ! [
0 Q Q Q, good X
— —>

S effect Y effect

The price of expensive luxury good X has fallen due to
the special offer and the budget line has pivoted out-
ward from AB to AC. The consumption point has
moved from n to h. Part of this rise Q — Q is due to the
substitution effect and part Q, — Q, is due to income
effect. Clearly the change in quantity of good X result-
ing from income effect is larger because it is a luxury
good and therefore has a stronger income effect.

We know that people’s preferences can also change in
the feal world. One obvious example is the case of ad-
vertising. If advertising is effective, it should make the
advertised good more desirable i.e. it shifts consumers’

s p{ef.erences towards that good. Consider the consumer
- choice diagram below.

Toplec 11 C Pag,

all other
goods

0O goW
Say there is a successful advertising campaign for Gog
X. This makes Good X more desirable. In other wory,
the consumer would now be willing to give up more 0}
all other goods to buy onc morc unit of Good X, T
means that the marginal rate of substitution will pg,,
be higher than before, the indifference curve thereforg
becomes steeper at point A i.c it pivots around to the
curve 1. Now, the bundle of goods at point A is ng
longer the consumer’s best affordable choice. He can
reach a higher indifference curve I, by buying the
bundle of goods at point B instcad that includes more
of Good X and less of all other goods. So, the effective
advertising campaign for Good X induces the con-
sumer to buy more of Good X, by changing his prefer-
ences.

It therefore follows that not only can we use consumer
theory of indifference curve for derivation of a
consumer’s demand curve but we can also show any
changes in his preferences resulting from factors such
as advertisement and special offers.

Question 14

(@) Analyse how indifference curve theory explains
why a consumer will normally buy more of a good
at a lower price than at a higher price. [12]

(b) Discuss why there might be exceptions to this nor-
mal response, distinguishing the income effect
from the substitution effect. Consider the relevance
of these exceptions to firms and the government.

[13]
[N17/P4/Q03]

i
Essay

(@) An indifference curve shows various combinations
of two goods that give an equal amount of satis-
faction or utility. A typical Ic slopes downwar
from left to right and it is usually drawn bowed In
towards the origin. Its slope gets shallower as W¢

4
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move down the curve indicating diminishing mar-
ginal ratc of substitution. MRS is the rate at which
the consumer is willing to substitute onc good for
the other while maintaining the overall satisfaction.
An lc, therefore, represents the marginal utility

U 2 i
ratio Al . We can draw more than one indif-

MU, :
ference curves where cach indifference curve fur-
ther out to the right would show a combination of
two goods that give a higher level of satisfaction.

So, an indifference map illustrates people’s prefer-
ences, but their actual choices will depend on their
incomes. The budget line, therefore, is the other
important element in this analysis. The budget line
shows what combinations of two goods a con-
sumer is able to buy at given prices and a given
budget. It, therefore, represents price ratio (Px/Py).
Let us examine the following graph where we put
the two elements— the indifference map and a
budget line— together. This will enable us to show
how much of each of the two goods the ‘rational’
consumer will buy from a given budget.

good Y

v

I
]
I
I
1
0 n good X
Economic theory predicts that a rational consumer
would like to consume along the highest possible
indifference curve. This is curve I at point e.
Higher indifference curve I, although representing
higher utility than curve I, but it represents com-
binations of X and Y that cannot be afforded with
the current budget. The consumer could consume
along curve I, but it gives a lower level of utility
than consuming at point ‘e’. The optimum con-
sumption point for the consumer, then, is where
the budget line is ‘tangential to’ the highest pos-
sible indifference curve. This is where the MU ra-
tio equals price ratio. At any other point along the
budget line, the consumer would get a lower level
of utility.
We can establish the relationship between a
consumer’s equilibrium and his demand curve by
using income and substitution effects of price

change. Let's assume that the price of good X
rises, consumer will purchase less of it for two rea-
sons: Firstly he cannot afford to buy so much duc
to the income effect. Secondly, the good is now
more cxpensive relative to other goods. He, there-
fore, substitutes alternatives for it. This is the sub-
stitution effect. Consider the following graph;

A
income
effect

good Y

|

1

1

!

P, h

! I

Tl i NG,
D
0 Qs Q Q(good X) g

The price of good X (normal) has risen and the

budget line has pivoted inwards from AB to AC.

The consumption point has moved from n to h.

Part of this fall in consumption is due to the sub-

stitution effect and part is due to the income effect.

To separate these two effects a new budget line is
drawn, parallel to AC but tangential to the original

indifference curve I,. Being parallel to AC, it repre-
sents the new price ratio i.e. the higher price of
good X, however, it enables the consumer to ob-
tain the same utility as before because there is no
loss in real income to the consumer. So, we have
excluded the income effect and therefore the move-
ment from Q, to Q, is due purely to a change in
the relative prices of X and Y.

In reality, the budget line has shifted to AC and the
consumer is forced to consume on a lower indiffer-
ence curve I, real income has fallen. Thus the
movement from Q, to Q5 is the income effect. So in
case of a normal good income and substitution ef-
fects of a price change reinforce each other. They
are both negative: they both involve a reduction in
the quantity demanded as price rises.
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In order to derive the consumer’s demand curve for
good X we need to show the effect on the con-
sumption of X of a change in the price of X assum-
ing the prices of all other goods are held constant.
We illustrate the rise in price of X by pivoting the
budget line inward on the upper part. It is then a
simple matter of transferring these price—quantity
relationships on to a demand curve. In figure
above point n and h on the demand curve in the
lower part of the diagram corresponds to the two
points on the upper part of the graph.

(b) In case of normal goods income and substitution
effects reinforce each other i.e. as price of a normal
good rises QD of the good falls partly due to in-
come effect and partly due to substitution effect
and vice versa. However there are exceptions to
this response when it comes to inferior and Giffen
goods.

In case of an inferior good substitution effect will
be in the same direction as for a normal good: i.e. it
will be negative. When, price of an inferior good
increases people will consume less X relative to Y,
since X is now more expensive relative to Y. For
example, if the price of inferior-quality margarine
went up, people would tend to use better-quality

margarine or butter (good Y) instead. This is illus-
trated in figure below.

t
good y

A

< \substitution effect

Again the substitution effect is indicated by a
movement along the original indifference curve I,
from point n to point m. The quantity of X de-
manded falls from Q, to Q,. The income effect of
the price rise, however, will be the opposite of that
for a normal good. The reduction in real income
from the rise in price of X will tend to increase the
consumption of X, since with a fall in real income
more inferior goods will now be purchased — in-
cluding more X. Thus point h is to the right of
point m: the income effect increases quantity back
from Q, to Q,. Over all substitution effect out-

good y

Topic 11 © Pagq
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weighs income effect therefore QD of i"fcﬁor
is likely to decrease from Q, to Q. 0o

The other exception is a case of a Giffen 200q 1,
an inferior good that takes a large propg l’lion' tig
consumer’s expenditure. This implies that Chao )
in price of such a good would have a sigmﬁcnge
change in consumer’s real income and therefor:n.t
would result in a large income effect that Oltye it
substitution effect and hence producing ap ey 5
tional demand curve. Following graph mustrate;
this exception.

A

A

mw substitution effect
n

0 QiQ: good x .

In this case an increase in price of good x, a Giffen
good, causes a fall in consumption (Q, - Q,) due'to
substitution effect that is more than offset by a rise
in consumption (Q, - Q,) due to a large positive
income effect, hence it produces an upward slop-
ing demand curve.

Income and substitution effect of a price change
help the firms to predict the direction and the ex-
tent of changes in quantity demanded of different
goods. In case of an inferior good, for instancé,
income and substitution effects tend to offset each
other. However substitution effect outweighs in-
come effect and makes the demand curve to slope
downward from left to right but the change in QD
is likely to be proportionately smaller. This implies
that the PED of an inferior good is likely to be rel#-
tively low, therefore a decrease in price could re-
sult in a fall in a firm’s total revenues (TR), and
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increase in price could increase its TR. However in
case of a Giffen good a large income effect out-
weighs a small substitution effect that produces an
upward sloping demand curve. It implies that an
increase in price would increase QD, therefore an
increase in price would always increase a firm’s
TR. Government is also likely to generate higher
tax revenues by raising indirect taxes on both
these types of goods.

It therefore follows that inferior and Giffen goods
are exceptions to a normal response of income and
substitution effect and firms can use them to set
prices of their goods and government can use them
to decide changes in their tax rates.

Question 15

(a) Explain, with the aid of a diagram, diminishing
marginal utility and its link to indifference curves.
[12]

(b) Discuss, using indifference curve analysis, how
the impact of an increase in indirect taxation on the
quantity demanded of a good depends on whether
it is a normal or inferior good. [13]

[J18/P4/Q2]

Essay

(a) Utility refers to a number of imaginary units of sat-
isfaction that a consumer obtains from his con-
sumption of a good. Total utility (TU) and Mar-
ginal utility (MU) are two important measures of
utility. TU is the overall satisfaction a consumer
obtains from his consumption of all the units of a
good while MU utility is the satisfaction he ob-
tains from consuming one extra unit of a good
within a given time period.

Diminishing marginal utility is an important prin-
ciple for it provides the basis for analyzing ~ con-
sumer behavior. According to this principle, as
more units of a good are consumed successively,
each extra unit will provide less additional satisfac-
tion than the previous unit i.e MU diminishes, Sec-
ond bar of chocolate, for instance, gives us less
_ additional satisfaction than the first bar. The third
gives even less satisfaction than the second and
so on. Diminishing marginal utility therefore signi-
fies that with consumption of each next bar our
desire is partially satisfied and hence our  craving
for the good is successively reduced that causes
lower satisfaction from each additional unit we
consume, Consider the following diagram:

Utility
(units)

16- TU
b
12- a ATU=2 _
________ ¢ 1AQ=
81 i
id
4=/~ \
N e, SN
_H l 5 MU

Bars of chocolate

So at zero bar of chocolate the consumer obviously
gets no satisfaction and his total utility is zero. If
he now consumes the first bar, his total utility is 7,
and his marginal utility is also 7. If he now con-
sumes a second bar, he gains an extra 4 units of
satisfaction (MU), giving him a total utility of 11 (7
+4). His marginal utility of the second unit has
fallen because, having already eaten 1 bar, he has
less craving for a second. A third bar gives him
even less marginal utility that has fallen to 2, giv-
ing a total utility of 13 (11 +2). By the time he has
eaten S bars, he would rather not eat any more. A
sixth actually reduces his total utility (from 14 to
13) because its marginal utility is negative.

Thus We derive marginal utility curve by measur-
ing the slope of two adjacent quantities on the
total utility curve by using the following;
- MU= AT[,j
~ Aunits

It can be noted that the MU curve we derive slopes
downward, simply illustrating the principle of
diminishing marginal utility.

The concept of diminishing marginal utility lays
foundation for the theory of indifference curve. An
indifference curve is drawn showing different com-
binations of two goods that represent the same
level satisfaction. The consumer, therefore, is
indifferent in his choice of combination. A typical
indifference curve slopes downward from left to
rigiit and it is usually drawn bowed in towards the
origin as given in the fig. below.
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clothing

Fig. 1: A consumer’s Indifference Curve

The slope of an IC curve gets'shallower on  ac-
count of diminishing marginal rate of substitution.
MRS is the rate at which the consumer is willing to
exchange one good for the other. MRS of food for
clothing, for instance, is the amount of clothing
whose loss can be compensated by a unit gain of
food so that overall satisfaction remains the same.

In order to elaborate on this let's consider the
move from point a to point b. The consumer gives
up 6 units of clothing and requires 1 unit of food
to compensate for the loss. The slope of the indif-

ference curve is thus _T6 = —6. Ignoring the nega-
tive sign, MRS = 6. Since consumption at point a
yields equal satisfaction with consumption at point
b, therefore the utility sacrificed by giving up 6
units of clothing must be equal to the utility gained
by consuming one more unit of food. Therefore

clothing
MUg 4
have measured between the same two points. MRS,
therefore, represents marginal utility ratio between
points on an indifference curve.

As we move down the curve and the slope of the
curve gets less steep, the marginal rate of substi-
tution diminishes. For subsequent exchanges, for
instance, the MRS is 2 and 1 respectively. This is
because as the consumer obtains more food and
fewer clothing, his marginal utility from food dimin-
ishes, while that from clothing increases. Therefore
he is prepared to give up fewer and fewer clothing
for each additional unit of food affecting a dimin-
ishing marginal rate of substitution.

Thus we conclude that diminishing marginal rate of
substitution is the link between diminishing mar-
ginal utility and indifference curves.

=6 and this iS the same as MRS we

i
(b) An indirect tax is imposed on consy

. Mptj
is collected by the government rmmp on ang

suppliers. Increase in such a tax oy 2 goo Cery
fore, adds to businesses' costs ang hene 1 thep,,
first a fall in the market supply and then ap incaugeS
in price. However the extent to which it raise scre?%
of a good is subject to the ability of firmg topnce
on tax to the consumers. Pagg
We can use indifference curve for our analyge,

the likely impact of an increase in indirect tay 0
quantity demanded of both normal ang inferion
goods. Consider the following graph where » i:;

normal good. |

4 income

effect
A

good y

An increase in tax on good x has increased its price
and hence the budget line has pivoted inwards
from AB to AC. The consumption point has moved
from n to h. Part of this shift in consumption
(Q,-Qy) is due to the substitution effect and the
rest (Q,— Q) is due to the income effect.

In order to reach the new equilibrium at point h first
the consumer would substitute good x with a rela-
tively cheaper substitute. The substitution effect
is shown by drawing a new dotted budget llfle
parallel to AC but tangential to the original indif
ference curve I, at point m. Being tangential.to I
enables the consumer to obtain the same utility

. . . in.
" before: in other words, there is no loss In real

come to the consumer and hence the fa!l in quta:-
tity demanded of good x from Q, to Q,1s effec
by the substitution effect.
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However, in reality consumer's real income has
fallen and the budget line has shifted to AC, there-
fore the consumer is forced to consume on a lower
indifference curve I, at point h affecting a further
decrease of Q, to Q, in quantity of good x de-
manded due to the income effect. We can trace
overall change in quantity demanded of good x on
the lower part of the graph and by connecting
those quantities with their related prices we can
derive demand curve for good x.

So far our analysis of indifference curve suggests
that for a normal good the income and substitution
effects of a price change reinforce each other. They
both involve a reduction in the quantity demanded
as price of the good rises. It therefore signifies that
the bigger the income and substitution effects of a
price rise, the greater will be the fall in quantity
demanded of a normal good and the higher will be
its price elasticity of demand.

However, when an inferior good is subject to an in-
crease in indirect tax the substitution effect will be
in the same direction as for a normal good. People
will consume less of the good because now it is
relatively expensive. For example, if the price of
inferior-quality margarine went up, people would
tend to use better-quality margarine or butter in-
stead. This is illustrated in Figure below:

A

good y
A

Similar to a normal good the substitution effect of
a rise in price of an inferior good is indicated by a
movement along the original indifference curve [,
from point n to point m effecting a fall in quantity
of good X demanded from Q, to Q,. The income
effect of the price rise, however, is the opposite of
that for a normal good. Since with a fall in real in-
come more inferior goods are now be purchased —
including more X, therefore a reduction in real in-
come caused by a rise in price of good X tends to
increase its consumption and hence consumption
point h is located to the right of point m: the in-
come effect increases quantity back from Q, to Q.
Over all price effect, however suggests that sub-
stitution effect outweighs income effect causing a
decrease in QD of inferior good from Q, to Q.
Again we can trace this change in quantity of good
x on the lower part of the graph in order to sketch
its demand curve.

It, therefore, follows that an increase in an indirect
tax has an impact on the quantity demanded of in-
ferior and normal goods that is similar in direction
but of varying magnitude.




